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63.7 98 ~ 63.9 0 9. 00 4. 00 1. 50
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64.3 3 ~ 64. 4 9 9.25 5.75 1. 50
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e o] VAR A = T 9. 60 5.30 0. 00 1.85 100.0 0.0 0.0 100.0 7,289.0|7 A 7 7 L Ak
64.8 95 ~ 65.0 1 9. 60 5. 80 1.85

8 i) UK R R T e T 9. 50 3.50 0. 00 1.75 100. 0 0.0 0.0 100. 0 7,389.0|7 A 7 7 /L ML
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8 [ B R R R T = T 10. 30 3.20 0. 00 1. 10 100.0 0.0 0.0 100.0 8,089. 0|7 2 7 7 /L [k
65.7 0 ~ 65.8 0 10. 30 4.10 1. 10

A8 [ R R R T = T 9.55 3.80 0. 00 1.85 100.0 0.0 0.0 100.0 8,189. 07 2 7 7 v &k
65.8 0 ~ 65.9 5 9.55 4.10 1.85
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67.7 0 ~ 67.7 100 9.30 0. 00 0.75
et ] JRLAR o] 77 AR 9.50 0. 00 0. 00 0.75 94.0 0.0 6.0 100. 0| 10, 189. O|HE K PEAH%E
67.7 100 ~ 67.9 10 9.30 0. 00 0.75
et ] JRLAR o] 77 AR 9. 00 0. 00 0. 00 0. 45 100. 0 0.0 0.0 100. 0| 10, 289. O|HE/KPEA%E
67.9 10 ~ 68.0 9 10. 00 0. 00 0. 45
et ] JRAR o] 77 AR 9. 30 0. 00 0. 00 0.75 45. 8 0.0 20. 2 66.0[ 10, 355. O[HEA M A2
68.0 9 ~ 68.0 75 9.30 0. 00 0.75
et ] JRAR o] 77 R 9. 30 0. 00 0. 00 0.75 -11.8 0.0 31.8 20.0[ 10, 375. O[HEA AL
68.0 75 ~ 68.0 95 9.30 0. 00 0.75
i i) WA o] T B X 9. 40 0. 00 0. 00 0.75 123.3 0.0 4.7 128.0|  10,503.0|7 A7 7 /L ik
68.0 95 ~ 68.2 23 9.30 5. 30 0.75
e i) WA o] T B X 9. 00 3.57 0.70 0.61 1.5 0.0 23.5 25.0|  10,528.0|7 % 7 7 /L Nfi%E
68.2 23 ~ 68.2 48 9. 00 3.57 0. 61
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%R
A 0 0003 BliE
g = HE £
X (B B, FE TN m m I NNAE & T O FEFA (T
OB | A B | oFER | B OB | E B | b 1 TERR AR g
m
8 [ B A o] T RO X 9. 40 3. 00 0. 00 0.75 61.0 0.0 0.0 61.0| 10, 589. 0| Pk M
68.2 48 ~ 68.3 11 9.20 3.00 0.75
8 o] B A [ T R X 9.40 3.00 0. 00 0. 60 100.0 0.0 0.0 100.0| 10, 689. O|HEsKk P&
68.3 11 ~ 68.3 111 9.30 3. 00 0. 60
et ] YR AR [ 77 AR 10. 00 2.25 2. 00 0.75 100. 0 0.0 0.0 100. 0| 10, 789. O|HE/k PEAH%E
68.3 111 ~ 68. 5 10 10. 00 3.25 0.75
et ] VRAR [ T AR 10. 00 2.25 2. 00 0.75 100. 0 0.0 0.0 100. 0| 10, 889. O| Pk PEAk%E
68.5 10 ~ 68.6 9 9.85 3.25 0.75
et ] VR AR [ T AR 10. 50 2.25 2. 00 0.75 100. 0 0.0 0.0 100. 0| 10, 989. O|HE/k PEAh%E
68.6 9 ~ 68.7 14 10. 50 3.25 0.75
g [ B A o] T R X 10. 50 2.25 2. 00 0.75 100. 0 0.0 0.0 100.0| 11, 089. O|HEsk P&k
68.7 14 ~ 68.8 6 10. 50 3.25 0.75
et ] VR AR [ T AR 10. 50 2.25 2. 00 0.75 37.0 0.0 0.0 37.0[ 11, 126. O[HEAK AL
68.8 6 ~ 68.8 43 10. 50 3.25 0.75
et ] JRAR o] 77 AR 9. 00 1. 50 1.00 2.35 0.0 0.0 33.0 33.0| 11, 159. 0| Pk Mg
68.8 43 ~ 68. 8 76 9. 00 1.50 2.35
A [ WA o] T B X 7.00 0. 00 1.00 3.05 90. 2 0.0 9.8 100.0|  11,259.0|7 A7 7 /L ik
68. 8 76 ~ 68.9 84 7.00 0. 00 3.90
A i) VA o] T B X 7.00 0. 00 1.00 1.75 30. 4 0.0 19.6 50.0| 11,309.0|7 %7 7 /L k%
68.9 84 ~ 69.0 34 7.00 0. 00 1.75
g i) WA o] T B X 7. 00 0. 00 1.00 2. 00 21.0 0.0 0.0 21.0[ 11, 330.0[Z Dl
69.0 34 ~ 69.0 55 7.00 0. 00 2. 00
i [ B A o] T R X 7. 00 0. 00 1.00 2. 00 144. 0 0.0 0.0 144.0|  11,474.0|7 2 7 7 /L ik
69.0 55 ~ 69.0 199 7.00 0. 00 2. 00
e [ VA o] T B X 6.88 0. 00 1.62 1.63 92.9 0.0 7.1 100.0|  11,574.0|7 2 7 7 /L itk
69.0 199 ~ 69.2 100 6. 88 0. 00 1.63
et ] VRAR o] 77 R 7.08 0. 00 3.50 0. 56 73.0 0.0 0.0 73.0 11, 647. O[HEAM: AL
69.2 100 ~ 71.0 0 7.23 0. 00 0.56
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%R

A 0 0003 BliE

g = HE £
X (B B, FE TN m m I NNAE & T O FEFA (T
OB | A B | OREH B | E K| hrxv 1 TERR AR
m

8 [ B A o] T RO X 7.00 2.55 3. 50 0. 66 100.0 0.0 0. 100. 11, 747, O|HEK ML
71.0 0 ~ 71. 0 7.00 5.87 0. 44

8 o] B A [ T R X 7. 00 2. 60 3.50 0.75 86. 2 0.0 13. 100. 11, 847. O|HEK P
71.1 0 ~ 71. 0 7.00 2.50 0.45

A o] B A o] T RO X 6. 50 3. 60 3. 50 1. 44 100.0 0.0 0. 100. 11, 947. O|HEK PEA A
71.2 0 ~ 71. 0 6. 50 5. 65 1.05

A o] B A [ T RO X 6.57 0. 00 3. 50 0. 50 100. 0 0.0 0. 100. 12, 047. O|HEzK PEA s
71.3 0 ~ 71. 0 6. 56 0. 00 0.45

et ] YRAR [ T AR 6. 50 0.00 4.31 0.50 41.0 0.0 0. 41. 12, 088. 0 [HEKM:Afi%E
71.4 0 ~ 71. 41 6. 50 0. 00 0.50

et ] YRAR [ T AR 9.00 3.80 0. 00 0.25 0.7 0.0 19. 20. 12, 108. 0|7k g%
71.4 41 ~ 71. 61 9.00 3. 60 0.25

g o] B A o] T RO X 9. 00 4.30 0. 00 0.70 39.0 0.0 0. 39. 12, 147. 0|7 2 7 7 )L ik
71.4 61 ~ 71. 101 9. 00 4. 60 0.50

et ] JRAR o] 77 AR 9. 00 4.30 0. 00 0.70 100. 0 0.0 0. 100. 12, 247. O| Bk A2
71.4 101 ~ 71. 100 9. 00 4. 60 0.50

et ] JRLAR o] 77 AR 9. 00 2. 36 0. 00 0. 60 100. 0 0.0 0. 100. 12, 347. O|Hlak A2
71.5 100 ~ 71. 96 9. 00 2.33 0. 60

et ] JRLAR o] 77 AR 9. 00 4.93 0. 00 0. 60 87.4 0.0 12. 100. 12, 447. O|Hlak A2
71.6 96 ~ 71. 16 9. 00 4.95 0. 60

et ] JRLAR o] 77 AR 9. 00 5. 60 0. 00 0. 60 100. 0 0.0 0. 100. 12, 547. 0| Hlak P42
71.8 16 ~ 71. 6 9. 00 4. 00 0. 60

et ] JRAR o] 77 AR 9. 00 2. 74 0. 00 0. 60 56. 0 0.0 0. 56. 12, 603. 0| Bk MEAl%E
71.9 6 ~ 72. 0 9. 00 4.15 0. 60

et ] JRLAR o] 77 R 9. 00 4. 90 0. 00 0. 60 144.0 0.0 0. 144. 12, 747. O|Hl/k A2
72.0 0 ~ 72. 39 9. 00 4. 24 0. 60

et ] JRLAR o] 77 AR 9. 00 5. 00 0. 00 0. 60 100. 0 0.0 0. 100. 12, 847. O|BHl/k A%
72.1 39 ~ 72. 14 9. 00 3.00 0. 60
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OB | A B | oFER | B OB | E B | b 1 TERR AR g
m

8 [ B A o] T RO X 9. 00 2.78 0. 00 0. 60 100.0 0.0 0.0 100.0| 12, 947. O|HEsK Mg
72.2 14 ~ 72.2 114 9. 00 2.52 0. 60

8 o] B A [ T R X 9.00 2.76 0. 00 0. 60 100.0 0.0 0.0 100.0| 13, 047. O|HEsk Mg
72.2 114 ~ 72.4 10 9.00 2.51 0. 60

et ] YR AR [ 77 AR 9.00 2.39 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 147. O| ek PEAH%E
72.4 10 ~ 72.5 19 9.00 2.90 0. 60

et ] VRAR [ T AR 9.00 2. 96 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 247. O| sk PEAh%E
72.5 19 ~ 72.6 20 9.00 2.33 0. 60

et ] VR AR [ T AR 9.00 2. 67 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 347. O|Hesk PEAh%E
72.6 20 ~ 72.7 23 9.00 3. 67 0. 60

g [ B A o] T R X 9.00 2. 55 0. 00 0. 60 100. 0 0.0 0.0 100.0| 13, 447. O|HEsk PEAf %
72.7 23 ~ 72.8 29 9. 00 2.45 0. 60

et ] VR AR [ T AR 9. 00 2.45 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 547. O| sk PEEl%E
72.8 29 ~ 72.9 24 9. 00 2.30 0. 60

A i) B A o] T B X 9. 00 2.65 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 647. O|HE/KPEE%E
72.9 24 ~ 73.0 35 9. 00 2.10 0. 60

A [ WA o] T B X 9. 00 2.40 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 747. O|HE/k PR %E
73.0 35 ~ 73.1 24 9. 00 4.50 0. 60

A i) VA o] T B X 9. 00 2.40 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 847. O|HE/K LA %S
73.1 24 ~ 73.2 28 9. 00 4.10 0. 60

g i) WA o] T B X 9. 00 2.75 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 13, 947. O|HE/K LA %S
73.2 28 ~ 73.3 13 9. 00 2.65 0. 60

i [ WA o] T B X 9. 00 2. 60 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 14, 047. O|HE/KPEE%E
73.3 13 ~ 73.4 3 9. 00 3.25 0. 60

i [ WA o] T B X 9. 00 2.45 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 14, 147. O|HE/K LA %E
73.4 3 ~ 73.5 7 9. 00 4. 45 0. 60

et ] VR AR o] 77 R 9. 00 4. 40 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 14, 247. O|HE/KMEE%E
73.5 7~ 73.5 107 9. 00 5. 30 0. 60
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OB | A B | oFER | B OB | E B | b 1 TERR AR g
m
8 [ B A o] T RO X 9. 00 2. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0|  14,347.0|7 27 7 /L ik
73.5 107 ~ 73.6 86 9. 00 2.50 0. 60
8 o] B A [ T R X 9.00 2.75 0. 00 0. 60 100. 0 0.0 0.0 100.0| 14, 447.0|7 27 7 /L ik
73.6 86 ~ 73.7 89 9.00 2.85 0. 60
8 o] B A [ T RO X 9.00 1.90 0. 00 0. 60 100. 0 0.0 0.0 100.0| 14, 547.0|7 2 7 7 /L ik
73.7 89 ~ 73.8 79 9.00 2. 70 0. 60
A o] B A o] T RO X 9.00 1.90 0. 00 0. 60 100. 0 0.0 0.0 100.0| 14, 647.0|7 2 7 7 /L ik
73.8 19 ~ 73.9 89 9.00 2. 60 0. 60
8 o] B A o] T RO X 9.00 5. 30 0. 00 0. 60 100. 0 0.0 0.0 100.0| 14, 747.0|7 2 7 7 )L ik
73.9 89 ~ 74.1 0 9.00 5. 20 0. 60
g [ B A o] T R X 9.00 2.95 0. 00 0.60[ -104.1 0.0 204. 1 100.0| 14, 847.0|7 2 7 7 /L ik
74.1 0 ~ 74.2 13 9.00 2.95 0. 60
g o] B A o] T RO X 9.00 2.95 0. 00 0. 60 100. 0 0.0 0.0 100.0| 14, 947.0|7 2 7 7 /L ik
74.2 13 ~ 74.3 14 9. 00 2.95 0. 60
et ] JRAR o] 77 AR 9. 00 3.95 0. 00 1. 20 100. 0 0.0 0.0 100. 0| 15, 047. O|HE/KPEAH%E
74.3 14 ~ 74. 4 8 9. 00 3.90 1. 00
et ] JRLAR o] 77 AR 9. 00 4. 45 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 15, 147. O|HE/K L& %E
74. 4 8 ~ 74.5 15 9. 00 2.45 0. 60
et ] JRLAR o] 77 AR 9. 00 3.80 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 15, 247. O|HE/K L%
74.5 15 ~ 74.6 6 9. 00 3.20 0. 60
et ] JRAR o] 77 AR 9. 00 3.35 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 15, 347. O|HE/k LA %E
74.6 6 ~ 74.7 7 9. 00 4.95 0. 60
et ] JRAR o] 77 R 9. 00 5. 80 0. 00 0. 40 100. 0 0.0 0.0 100. 0| 15, 447. O|HE/K PEE%E
74.7 7~ 74.8 14 9. 00 3.50 0. 40
et ] VRAR o] 77 R 9. 00 2.30 0. 00 0. 40 100. 0 0.0 0.0 100. 0| 15, 547. O|HE/KPEE%E
74.8 14 ~ 74.8 115 9. 00 2.35 0. 40
et ] VRAR o] 77 R 9. 00 3.10 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 15, 647. O|HE/KMEE%E
74.8 115 ~ 75.0 13 9. 00 3.50 0. 60

_12_



s

% E R OW O# 1258

3K
A 0 0003 BliE
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OB | A B | oFER | B OB | E B | b 1 TERR AR g
m
8 [ B A o] T RO X 9. 00 3. 00 0. 00 0. 60 100.0 0.0 0.0 100.0| 15, 747. O|HEK Mg
75.0 13 ~ 75.1 14 9. 00 3.35 0. 60
8 o] B A [ T R X 9.00 4.70 0. 00 0. 60 100.0 0.0 0.0 100.0| 15, 847. O|HEsK P&
75.1 14 ~ 75.2 15 9.00 4.20 0. 60
et ] YR AR [ 77 AR 9.00 3.10 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 15, 947. O|HE/k PEAk%E
75.2 15 ~ 75.3 5 9.00 2.20 0. 60
et ] VRAR [ T AR 9.00 3.25 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 16, 047. O| Pk PEAH%E
75.3 5 ~ 75.4 6 9.00 2.70 0. 60
et ] VR AR [ T AR 9.00 3.20 0. 00 0. 40 100. 0 0.0 0.0 100. 0| 16, 147. O| ek PEEH%E
75.4 6 ~ 75.5 2 9.00 3.00 0. 40
g [ B A o] T R X 9.00 4. 50 0. 00 0. 40 80. 0 0.0 0.0 80.0| 16, 227. O|HEAK M
75.5 2 ~ 75.5 82 9.00 3.00 0. 60
et ] VR AR [ T AR 9. 00 4.50 0. 00 0. 60 120.0 0.0 0.0 120.0| 16, 347. O| sk PEEH%E
75.5 82 ~ 75.7 3 9. 00 4.30 1.15
et ] JRAR o] 77 AR 9. 00 2.75 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 16, 447. O|HE/KPEEH%E
75.7 3 ~ 75.8 2 9. 00 3.00 0. 60
et ] JRLAR o] 77 AR 9. 00 3.00 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 16, 547. O|HE/KPEE%E
75.8 2 ~ 75.9 6 9. 00 4. 40 0. 60
et ] JRLAR o] 77 AR 9. 00 2.75 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 16, 647. O|HE/KPEE %S
75.9 6 ~ 76.0 7 9. 00 3.00 0. 60
g i) WA o] T B X 9. 00 2.15 0. 00 0. 60 100. 0 0.0 0.0 100.0| 16, 747. 0|7 A 7 7 /L ik
76.0 7~ 76. 1 12 9. 00 4.45 0. 60
i [ WA o] T B X 9. 00 4. 45 0. 00 0. 60 80. 0 0.0 0.0 80.0| 16,827.0|7 A7 7 /L ik
76. 1 12 ~ 76. 1 92 9. 00 1.95 0. 60
i [ WA o] T B X 9. 00 4.33 0. 00 0.55 100. 0 0.0 0.0 100.0| 16, 927.0|7 A 7 7 /L ik
76. 1 92 ~ 76.2 81 9. 00 2. 00 0. 45
i [ VR A o] T B X 9. 00 4.30 0. 00 0.55 100. 0 0.0 0.0 100.0|  17,027.0|7 27 7 /L &%k
76.2 81 ~ 76. 4 3 9. 00 3. 04 0. 45
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OB | A B | oFER | B OB | E B | b 1 TERR AR g
m

8 [ B A o] T RO X 9. 00 4.35 0. 00 0.55 100. 0 0.0 0.0 100.0|  17,127.0|7 27 7 /L ik
76. 4 3 ~ 76.5 1 9. 00 4.25 0.45

8 o] B A [ T R X 9.00 4. 40 0. 00 0.55 100. 0 0.0 0.0 100.0|  17,227.0|7 27 7 )L ik
76.5 1~ 76.5 101 9.00 4.50 0.45

8 o] B A [ T RO X 9.00 4. 40 0. 00 0.55 100. 0 0.0 0.0 100.0|  17,327.0|7 27 7 /L ik
76.5 101 ~ 76.5 201 9.00 4.35 0.45

A o] B A o] T RO X 9.00 2.70 0. 00 0.55 100. 0 0.0 0.0 100.0|  17,427.0|7 27 7 /L ik
76.5 201 ~ 76.7 96 9.00 2.80 0.45

8 o] B A o] T RO X 9.00 3. 20 0. 60 0. 50 100. 0 0.0 0.0 100.0|  17,527.0|7 27 7 /L ik
76.7 96 ~ 76.9 22 9.00 3.50 0.50

g [ B A o] T R X 9.00 2. 90 0. 60 0. 50 100. 0 0.0 0.0 100.0| 17, 627. O|HEsk PEAfAE
76.9 22 ~ 76.9 122 9. 00 2.25 0.50

et ] VR AR [ T AR 9. 00 3.20 0. 60 0. 50 100. 0 0.0 0.0 100. 0| 17, 727. O|Hesk PEAk%E
76.9 122 ~ 77.0 91 9. 00 2.95 0.50

A i) B A o] T B X 9.00 4. 40 0. 60 0. 50 100. 0 0.0 0.0 100.0|  17,827.0|7 27 7 /L ik
77.0 91 ~ 77.1 91 9. 00 4. 40 0.50

A [ WA o] T B X 9.00 4. 60 0. 00 0. 50 100. 0 0.0 0.0 100.0|  17,927.0|7 27 7 /L ik
77.1 91 ~ 77.2 86 9. 00 4. 40 0.50

A i) VA o] T B X 9. 00 4. 60 0. 00 0.55 100. 0 0.0 0.0 100.0| 18, 027.0|7 A7 7 /L ik
77.2 86 ~ 77.3 96 9. 00 4.30 0.55

g i) WA o] T B X 9. 00 4.90 0. 00 0. 60 100. 0 0.0 0.0 100.0| 18, 127.0|7 A 7 7 /L ik
77.3 96 ~ 77.4 91 9. 00 4.30 0. 60

i [ WA o] T B X 9. 00 5. 00 0. 00 0. 55 100. 0 0.0 0.0 100.0|  18,227.0|7 A 7 7 /L itk
77.4 91 ~ 77.5 90 9.05 4.20 0.55

i [ WA o] T B X 9. 00 5. 20 0. 00 0. 60 100. 0 0.0 0.0 100.0|  18,327.0|7 A7 7 /L ik
77.5 90 ~ 77.6 92 9. 00 4.30 0. 60

i [ VR A o] T B X 9.05 4.90 0. 00 0. 60 100. 0 0.0 0.0 100.0|  18,427.0|7 A7 7 /L il
77.6 92 ~ 77.7 87 9. 00 4. 40 0. 60
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m

8 [ B A o] T RO X 9. 00 4. 90 0. 00 0.55 100.0 0.0 0. 100. 18,527. 0|7 A 7 7 /L &%k | MR B4 X [
77.7 87 ~ 77. 187 9. 00 4. 50 0. 55 1A

1 i) U A ) T 28 X 9. 00 5.05 0. 00 0. 60 100. 0 0.0 0. 100. 18, 627. 0|7 A 7 7 /L b &%k | M B4 X [
77.7 187 ~ 77. 100 9. 00 4. 50 0. 60 1A

1 i) b A o] T 22 X 9. 00 4. 20 0. 00 0. 65 100. 0 0.0 0. 100. 18,727. 0|7 A 7 7 /L b &%k | M B4 X [
77.9 100 ~ 78. 98 9. 00 4. 30 0. 65 1A

@ i) UL A o) T 22 X 9. 00 4. 40 0. 00 0. 60 100. 0 0.0 0. 100. 18,827. 0|7 A 7 7 /L b &%k | MBS B4 X [
78.0 98 ~ 78. 91 9. 00 4.70 0. 60 1A

@ i) UL A i) T 22 X 9. 00 3.15 0. 00 0. 70 65.0 0.0 0. 65. 18,892. 0|7 A 7 7 /L b &%k | MBS B4 X [
78.1 91 ~ 78. 57 9. 00 3.20 0. 70 1A

@ i) B A o] T i 22 X 9. 00 3.50 1. 50 0. 60 35.0 0.0 0. 35. 18,927. 0|7 A 7 7 /L b &%k | M B4 X [
78.2 57 ~ 78. 92 9. 00 2.75 0. 60 1A

1 i) b A i) T 22 X 9. 00 2. 70 1. 00 0.75 100. 0 0.0 0. 100. 19, 027. 0|7 A 7 7 /L &% | M B4 X[
78.2 92 ~ 78. 91 9. 00 4. 50 0.75 1A

& [ LR A A % X 9.00 1.88 2.00 0. 50 100. 0 0.0 0. 100. 19, 127. 0|7 A 7 7 /b &%t | Mt s X[
78.3 91 ~ 78. 86 9. 00 3.80 0. 50 1A

& [ LR A A 2 X 9.00 3. 80 2.00 0. 60 90.0 0.0 0. 90. 19, 217. O|PEsk P& PR MEATE B X ]
78.4 86 ~ 78. 176 6. 00 4.15 0. 95 1A

& [ LR R A 2 X 9.00 2.25 2.00 0.75 110.0 0.0 0. 110. 19, 327. O|PEsk P& PR IEATE B X ]
78.4 176 ~ 78. 90 6. 00 5.30 0. 45 1A

& [ LR A A 2 X 9.00 3.70 3.25 0.55 60.0 0.0 0. 60. 19, 387. O| Pk P& PR BT B X ]
78.6 90 ~ 78. 150 6. 00 2. 65 0. 50 1A

& [ LR A F % X 9.00 3.70 3.25 0.55 40.0 0.0 0. 40. 19, 427. O|PE/K P PR RMEATE EE A X ]
78.6 150 ~ 78. 190 6. 00 2. 65 0. 50 1A

& [ LR A F % X 9.00 4.30 5. 80 1.75 82.7 0.0 17. 100. 19, 527. O|PEsk P& PR AT B X ]
78.6 190 ~ 78. 1 6. 00 4.15 2.10 1A

& [ LR A F % X 9.00 8. 00 3.00 1.75 72.0 0.0 0. 72. 19,599. 0|7 A 7 7 /L b &%t | MR B X [
78.9 1 ~ 78. 73 6. 00 5.00 1.75 1A
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m

& [ LR R T % X 6. 00 5. 40 3.00 2.05 28.0 0.0 0. 28. 19, 627. 0|7 A 7 7 /L &% | HHEfEAm B4 X [
78.9 73 ~ 79. 3 6. 00 5.00 2.05 1A

@ i) B A o] T 22 X 6. 50 6. 30 4. 10 1. 60 100. 0 0.0 0. 100. 19, 727. 0|7 A 7 7 /L &% | MHEfEm A X[
79.0 3 ~ 79. 2 6. 50 5. 50 1. 60 1A

1 i) b A o) v 22 X 6. 50 5. 00 8.50 1. 50 100. 0 0.0 0. 100. 19, 827. 0|7 A 7 7 /L &%k | MBS B4 X[
79.1 2 ~ 79. 102 6. 50 6. 30 1.95 1A

1 i) B A i) T 22 X 6. 50 4.75 11. 00 1.55 100. 0 0.0 0. 100. 19,927. 0|7 A 7 7 /L &% | MHEfEA B4 X[
79.1 102 ~ 79. 10 6. 50 4. 05 1.45 1A
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85. 1 6 ~ 85. 2 0 9. 50 2. 00 0.75

g o] VR R B e o 9.50 2. 00 18. 00 1.25 96. 3 0.0 3.7 100.0|  29,988.0|7 27 7 /L ik
85. 2 0 ~ 85.3 11 9. 50 2. 00 1.25

g o] VR R B e 9.50 2. 10 14. 50 0.75 100. 0 0.0 0.0 100.0|  30,088.0|7 A&7 7 /L ik
85. 3 11 ~ 85. 4 3 9. 50 2. 00 0.75

N2 6. 50 2. 00 17.50 1.50 100. 0 0.0 0.0 100.0| 30, 188.0|7 A7 7 /L ik
85. 4 3~ 85.5 12 6. 50 2.25 0.75

i [ W R B 3k i 6. 50 2. 00 17. 50 0.75 100. 0 0.0 0.0 100.0|  30,288.0|7 A&7 7 /L ik
85.5 12 ~ 85. 6 4 6. 50 1. 70 0.75
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8 o] B R By 6. 50 1.80 20. 50 0.75 97.4 0.0 2.6 100.0|  30,388.0|7 27 7 /L itk
85. 6 4 ~ 85. 7 0 6. 50 2. 00 0.75

8 o] B o Bk 6. 50 1.80 20. 50 0.75 100.0 0.0 0.0 100.0| 30, 488. 0|7 A7 7 /L b &k
85.7 0~ 85. 8 5 6. 50 2. 00 0.75

8 o] B R Bp ke 6. 50 2.00 18.00 0.75 100. 0 0.0 0.0 100.0| 30, 588. 0|7 A7 7 /b k&
85. 8 5 ~ 85.9 3 6. 50 2. 00 0.75

8 [ B R Bk 6. 50 2.00 18.00 0.75 100. 0 0.0 0.0 100.0| 30, 688. 0|7 A7 7 /L &k
85.9 3 ~ 86. 0 9 6. 50 2. 00 1. 50

8 [ B O Bk 6. 50 2.00 18. 50 1.50 96. 3 0.0 3.7 100.0| 30, 788.0|7 A7 7 /L &k
86. 0 9 ~ 86.0 109 6. 50 2.25 0.75

8 [ B R Bk i 6.50 2.00 25. 50 0.75 100. 0 0.0 0.0 100.0|  30,888.0|7 A7 7 /L &k
86.0 109 ~ 86. 2 6 6. 50 3. 00 0.75

g i) B R Bk 6. 50 2.50 19. 50 0.50 100. 0 0.0 0.0 100.0| 30, 988.0|7 A7 7 /L &k
86. 2 6 ~ 86. 3 1 6. 50 3. 00 0. 50

N SN2 6.50 3. 00 19. 50 0.75 100. 0 0.0 0.0 100.0|  31,088.0|7 A7 7 /L ik
86. 3 1~ 86. 4 6 9. 50 2. 00 0.75

N SN2 6. 50 2. 00 25. 50 0.75 100. 0 0.0 0.0 100.0|  31,188.0|7 27 7 /L ik
86. 4 6 ~ 86.4 106 9. 50 2. 00 0.75

L SN2 6.50 3. 00 41. 50 0.25 96. 3 0.0 3.7 100.0|  31,288.0|7 A7 7 /L ik
86.4 106 ~ 86. 6 1 6. 50 3.25 0.75

g o] VR R B e o 6. 50 0. 00 42. 00 1.50 100. 0 0.0 0.0 100.0|  31,388.0|7 27 7 /L ik
86. 6 1~ 86.6 100 6. 50 0. 00 0. 50

g o] VR R B e 6. 50 0. 00 30. 00 1.25 100. 0 0.0 0.0 100.0|  31,488.0|7 27 7 /L ik
86.6 100 ~ 86. 8 1 6. 50 0. 00 1.25

N2 6. 50 0. 00 30. 00 1.25 97. 4 0.0 2.6 100.0|  31,588.0|7 A7 7 /L ik
86. 8 1~ 86. 9 1 6. 50 0. 00 1.25

e [l W OR S T 6. 50 0. 00 18. 25 1.25 100. 0 0.0 0.0 100.0|  31,688.0|7 A&7 7 /L ik
86.9 1~ 86.9 102 6. 50 0. 00 1.25
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18 ) Y R =2 6. 50 0. 00 8.75 1.25 100. 0 0.0 0.0 100.0|  31,788.0|7 27 7 /L itk
86.9 102 ~ 87.0 99 6. 50 0. 00 1.25

& ) U K =2 S 6. 50 0. 00 1.50 1.25 90.0 0.0 10.0 100.0|  31,888.0[7 27 7 /b &k
87.0 99 ~ 87.2 1 6. 50 0. 00 1.25

& [ VR =2 i 6. 50 3. 50 1. 00 0.50 100.0 0.0 0.0 100.0|  31,988.0[7 27 7 /v &k
87.2 1~ 87.3 2 9.75 3. 50 0.50

& [ R =2 i 6. 50 3.50 1. 00 1.75 95.3 0.0 4.7 100.0|  32,088.0[7 27 7 /v &k
87.3 2 ~ 87. 4 0 9.75 1.75 5. 50

& [ R =2 S 6.20 4.00 2.00 0.75 100.0 0.0 0.0 100.0|  32,188.0[7 27 7 /v &k
87. 4 0 ~ 87.5 0 6. 20 3.50 0.75

& [ IR =2 i 6.50 3.50 1. 00 0.75 100.0 0.0 0.0 100.0|  32,288.0[7 27 7 /v &k
87.5 0 ~ 87.6 0 6.50 3.50 0.75

& [ RS2 S 6.50 3.50 1. 00 0.75| -137.3 0.0 237.3 100.0|  32,388.0[7 27 7 /v hak%E
87.6 0 ~ 87.7 10 6. 50 3.50 0.75

A8 o] VR SE T 6.50 2. 10 1.00 0.75 100. 0 0.0 0.0 100.0|  32,488.0|7 27 7 /L [k
87.7 10 ~ 87.8 10 6. 50 0. 00 0.75

A8 o] VR SE T 6.50 2. 10 1.00 0.75 93.7 0.0 6.3 100.0|  32,588.0|7 27 7 /L ik
87.8 10 ~ 87.9 10 6. 50 0. 00 1. 00

& [l B R =2 T 6. 50 0. 00 1.00 0.75 100. 0 0.0 0.0 100. 0| 32, 688. O|HE K ML %L
87.9 10 ~ 88.0 10 6.50 0. 00 1. 00

& [l B OR =2 T 6. 50 0. 00 1.00 0.25 92. 4 0.0 7.6 100. 0| 32, 788. O|HE Kk MLl %E
88.0 10 ~ 88. 1 9 6. 50 0. 00 0.25

e [l W OR s T 9.75 0. 00 1.00 0.25 97.6 0.0 2.4 100. 0| 32, 888. O|HE/KMEA%E
88. 1 9 ~ 88. 2 9 9.75 0. 00 0.75

e [l B OR s T 9.75 0. 00 5. 50 0.25 100. 0 0.0 0.0 100. 0| 32, 988. O|HE/KMEA%E
88. 2 9 ~ 88.3 1 9.75 0. 00 0.75

e [l WA OR S T 9.75 0. 00 3.50 1. 00 96. 6 0.0 3.4 100. 0| 33, 088. O|HE/KMEA %
88.3 1~ 88. 4 9 9.75 0. 00 0.75
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A 0 0003 BliE
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18 o] B R =2 e 1 9.75 0. 00 2.00 1. 00 91.7 0.0 8.3 100.0| 33, 188. O|HEsK PEA:
88. 4 9 ~ 88.5 9 9.75 0. 00 0.75
18 o] B R 2 e 9.75 0. 00 2.00 1.00 100. 0 0.0 0.0 100.0| 33, 288. O|HEsk PEAA:
88.5 9 ~ 88.6 13 9.75 0. 00 0.75
18 o] B R 2 o 7 9.75 0. 00 2.00 1.00 89.5 0.0 10.5 100.0| 33, 388. O|HE/kM:4f%:
88.6 13 ~ 88.7 8 9.75 0. 00 0.75
18 o] B R 2 e i 6. 50 0. 00 1. 00 1.00 97.1 0.0 2.9 100.0| 33, 488. 0| Pk M:4f%:
88.7 8 ~ 88.8 14 6. 50 0. 00 1.00
18 o] B R 2 e 7 6. 50 0. 00 1. 00 1. 00 100.0 0.0 0.0 100.0| 33, 588. 0|HE/kM:4f%k:
88.8 14 ~ 88.9 11 6. 50 0. 00 1.00
X8 o B R =2 e i 6.50 0. 00 1. 00 1.00] -976.9 0.0| 1,076.9 100.0| 33, 688. O|FE/kM:4f%:
88.9 11 ~ 89.0 9 6.50 0. 00 1. 00
& o B R =2 e 6.50 0.00 1. 00 1.00 92.1 0.0 7.9 100.0| 33, 788. O|HE/k M:4f%k:
89.0 9 ~ 89. 1 5 6. 50 0.00 1. 00
& [ B R =2 T 6.50 0. 00 1.00 1.00 100. 0 0.0 0.0 100.0|  33,888.0|7 27 7 /L [k
89. 1 5 ~ 89. 2 3 6. 50 0. 00 1. 00
& [l W OR =2 T 6. 50 0. 00 1.00 1.00 100. 0 0.0 0.0 100.0|  33,988.0|7 27 7 /L [k
89. 2 3 ~ 89.3 0 6. 50 0. 00 1. 00
&l B ORI T 6.50 0. 00 1.00 1.00 100. 0 0.0 0.0 100.0|  34,088.0|7 A7 7 /L ik
89. 3 0 ~ 89.3 100 6. 50 0. 00 1. 00
& il W OR =2 T 6. 50 0. 00 1.00 1.00 100. 0 0.0 0.0 100.0|  34,188.0|7 27 7 /L ik
89.3 100 ~ 89.4 97 6. 50 0. 00 1. 00
e il B OR S T 6. 50 0. 00 1.00 1.00 58.0 0.0 42.0 100.0|  34,288.0|7 27 7 /L ik
89.4 97 ~ 89.5 93 6. 50 0. 00 1. 00
e [l W OR S T 6. 50 0. 00 1.00 1.00 100. 0 0.0 0.0 100.0|  34,388.0|7 27 7 /L ik
89.5 93 ~ 89.6 91 6. 50 0. 00 1. 00
& o] VR K SEF 6. 50 0. 00 1.00 1. 00 100.0 0.0 0.0 100.0| 34,488.0|7 27 7 /L sk
89.6 91 ~ 89.7 87 6. 50 0. 00 1. 00
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18 ) Y R =2 6. 50 0. 00 1.00 1. 00 100. 0 0.0 0.0 100.0|  34,588.0|7 27 7 /L ik
89.7 87 ~ 89.8 85 6. 50 0. 00 1. 00

& ) U K =2 S 6. 50 0. 00 1. 00 1.00 97.9 0.0 2.1 100.0|  34,688.0[7 27 7 /v &k
89.8 85 ~ 89.9 81 6. 50 0. 00 1.00

18 o] B R 2 o 7 6. 50 0. 00 1. 00 1.00 100.0 0.0 0.0 100.0| 34, 788. O|HE/k M4f%k:
89.9 81 ~ 90.0 78 6. 50 0. 00 1.00

18 o] B R 2 e i 6. 50 4.00 1. 00 1.00 97.9 0.0 2.1 100.0| 34, 888. O|HE/kM:4f%k:
90.0 78 ~ 90. 1 79 6. 50 8.50 1.00

18 o] B R 2 e 7 6. 50 6.30 1.50 0.75 100.0 0.0 0.0 100.0| 34, 988. O|HE/k M:4f%k:
90. 1 79 ~ 90.1 179 6. 50 6. 00 0.75

X8 o B R =2 e i 9.75 5. 00 4.00 0.75 73.0 0.0 0.0 73.0| 35,061, 0| P M:Af%E
90.1 179 ~ 90.3 61 9.75 7.00 0.75

8 o W R =2 e 9.75 7.75 1. 00 0.75 100.0 0.0 0.0 100.0| 35, 161. O|FE/kM:4f%k:
90.3 61 ~ 90.4 62 9.75 6. 75 0.75

& [ B R =2 T 9.75 7.75 1.00 0.75 100. 0 0.0 0.0 100. 0| 35, 261. O|HE/KPEE%E
90.4 62 ~ 90.5 70 9.75 6. 75 0.75

& [l W OR =2 T 9.75 7.75 2.00 0.75 100. 0 0.0 0.0 100. 0| 35, 361. O|HE/KPEE%E
90.5 70 ~ 90.6 66 9.75 6. 75 0.75

&l B ORI T 9.75 7.75 2.00 0.75 100. 0 0.0 0.0 100. 0| 35, 461. O|HE/K LA %S
90.6 66 ~ 90.7 67 9.75 6.75 0.75

& il W OR =2 T 9.75 7.75 2.00 0.75 95. 2 0.0 4.8 100. 0| 35, 561. O|HE/KPEA%E
90.7 67 ~ 90.8 82 9.75 6. 75 0.75

e il B OR S T 9.75 7.75 2. 00 0.75 87.0 0.0 0.0 87.0| 35, 648. 0| HE/KMEE%E
90.8 82 ~ 90.9 56 9.75 6. 75 0.75

A8 o] VR K SEF 9.75 2. 00 2. 00 1.00 -93.5 0.0 207.5 114.0|  35,762.0|7 A7 7 /L ik
90.9 56 ~ 91.0 70 9.75 2. 00 1. 00

e [l W OR S T 9.75 2. 00 2. 00 1.00 93.0 0.0 0.0 93.0| 35,855.0|7 %2 7 7L Lk
91.0 70 ~ 91.1 62 9.75 2. 00 1. 00
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18 o] B R =2 e 1 9.75 3.00 2.00 0.75 107.0 0.0 0. 107. 35, 962. 0|#HEA MG
91.1 62 91. 71 9.75 2.00 0.75

18 o] B R 2 e 9.75 3. 00 2.00 0.75 100.0 0.0 0. 100. 36, 062. 0|HEA 1Ak
91.2 71 91. 77 9.75 2. 00 0.75

18 o] B R 2 o 7 9.75 3. 00 2.00 0.75 93.9 0.0 6. 100. 36, 162. 0| HEAK M ids
91.3 77 91. 72 9.75 2.00 0.75

18 o] B R 2 e i 9.75 3.00 2.00 0.75 100.0 0.0 0. 100. 36, 262. 0| HEAK M i%s
91.4 72 91. 71 9.75 2.00 0.75

18 o] B R 2 e 7 9.75 2.25 2.00 0.75 100.0 0.0 0. 100. 36, 362. 0| HEAK M Ai%E
91.5 71 91. 71 9.75 2.50 0.75

X8 o B R =2 e i 9.75 2.25 2.00 0.75 94.0 0.0 6. 100. 36, 462. 0|HEA 1A
91.6 11 91. 70 9.75 2.50 0.75

8 o W R =2 e 9.75 2.25 2.00 0.75 100.0 0.0 0. 100. 36, 562. 0| HEAK Mt
91.7 70 91. 71 9.75 2.50 0.75

& [ B R =2 T 9.75 2.25 2. 00 0.75 100. 0 0.0 0. 100. 36, 662. O|HEAPEEHE
91.8 71 91. 73 9.75 2.50 0.75

& [l W OR =2 T 9.75 2.25 2.00 0.75 100. 0 0.0 0. 100. 36, 762. O|HEA PEA %
91.9 73 92. 73 9.75 2.50 0.75

&l B ORI T 9.75 2.25 2.00 0.75 100. 0 0.0 0. 100. 36, 862. O|HEA A%
92.0 73 92. 75 9.75 2.50 0.75

& il W OR =2 T 9.75 2.25 2.00 0.75 100. 0 0.0 0. 100. 36, 962. 0| HEA P&
92. 1 75 92. 72 9.75 2.50 0.75

e il B OR S T 9.75 2.25 2. 00 0.75 100. 0 0.0 0. 100. 37, 062. 0| HEA P&
92.2 72 92. 83 9.75 2.50 0.75

e [l W OR S T 9.75 2.25 2. 00 0.75 100. 0 0.0 0. 100. 37, 162. O HEA PEAf 2
92.3 83 92. 77 9.75 2.50 0.75

et ] VR R =2 R T 9.75 2.25 2.75 0.75 100. 0 0.0 0. 100. 37, 262. 0| HEAK PESHLE
92.4 17 92. 83 9.75 2.50 0.75
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g = HE £
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18 o] B R =2 e 1 9.75 2.25 2.75 0.75 100. 0 0.0 0. 100. 37, 362. O|HEA MGkt
92.5 83 ~ 92. 81 9.75 2.50 0.75

18 o] B R 2 e 9.75 2.25 2.75 0.75 100. 0 0.0 0. 100. 37, 462. 0|HEA MGkt
92.6 81 ~ 92. 74 9.75 2.50 0.75

18 o] B R 2 o 7 9.75 2.25 2.75 0.75 100.0 0.0 0. 100. 37, 562. 0| HEAK P A%
92.7 T4 ~ 92. 73 9.75 2.50 0.75

18 o] B R 2 e i 9.75 2.25 2.75 0.75 100.0 0.0 0. 100. 37, 662. 0| HEAK M i%E
92.8 73 ~ 92. 64 9.75 2.50 0.75

18 o] B R 2 e 7 9.75 2.25 2.75 0.75 100.0 0.0 0. 100. 37, 762. 0| HEAK Mt
92.9 64 ~ 93. 72 9.75 2.50 0.75

X8 o B R =2 e i 9.75 2.25 2.75 0.75 92. 4 0.0 7. 100. 37, 862. O|HEAK M At
93.0 72 ~ 93. 77 9.75 2.50 0.75

8 o W R =2 e 9.75 2.25 2.75 0.75 100.0 0.0 0. 100. 37, 962. 0| HEAK M it
93.1 77 ~ 93. 71 9.75 2.50 0.75

& [ B R =2 T 9.75 2.25 2.75 0.75 90. 0 0.0 0. 90. 38, 052. OHEA A%
93.2 71 ~ 93. 65 9.75 2.50 0.75

A8 ] VRS SE B 9.75 2.25 2.75 0.75 111.0 0.0 0. 111. 38, 163. O|HEA P& #E
93.3 65 ~ 93. 78 9.75 2.50 0.75

A8 o] VRS SE B 9.75 2.25 2.75 0.75 88.0 0.0 12. 100. 38, 263. O HEA A%
93.4 78 ~ 93. 79 9.75 2.50 0.75

15 [ VLS R e 9.75 2.25 2.75 0.75 100. 0 0.0 0. 100. 38, 363. O|HEAPEAf 2
93.5 79 ~ 93. 76 9.75 2.50 0.75

15 [ VLA R 9.75 2.25 2.75 0.75 95. 2 0.0 4. 100. 38, 463. O HEA PEA 2
93.6 76 ~ 93. 61 9.75 2.50 0.75

15 [ VLA SR 9.75 2.25 2.75 0.75 100. 0 0.0 0. 100. 38, 563. O HEAPEAf
93.7 61 ~ 93. 51 9.75 2.50 0.75

e ) WL SR B 9.75 2.25 2.75 0.75 100. 0 0.0 0. 100. 38, 663. O|HEAPEAf 2
93.8 51 ~ 93. 54 9.75 2.50 0.75
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& = it s
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m
[ VL AR S B T 9.75 2.25 2.75 0.75 115.8 0.0 7. 123. 38, 786. O |HEAK Ak
93.9 54 94, 76 6. 50 2. 50 0.75
1 [ VL AR S 05 T 9.75 2.25 2.75 0.75 50. 0 0.0 0. 50. 38, 836. 0|HEA ML
94. 0 76 94. 25 6. 50 2. 50 0.75
T VL AR S 05 T 6. 50 2.40 0. 00 0. 25 51.0 0.0 0. 51. 38, 887. O|HEAK ME&f
94. 1 25 94. 76 6. 50 2. 50 0. 25
1 [ VL AR S 0 T 6. 50 2.50 1. 00 0. 50 96. 4 0.0 3. 100. 38, 987. O[HEAK P&
94. 1 76 94. 82 6. 50 2. 00 0. 25
[ VL AR S 0 T 6. 50 2.50 1. 00 0. 50 100. 0 0.0 0. 100. 39, 087. O [HEAK P&l
94. 2 82 94. 76 6. 50 2. 00 1.00
[ VL AR S 0 T 6. 50 2.50 1. 00 0. 50 100.0 0.0 0. 100. 39, 187. O|HEAK At
94. 3 76 94. 76 6. 50 2. 00 1.00
T [ VL AR S B T 6. 50 5. 50 1. 00 0.50] -123.0 0.0 187. 64. 39, 251. O [HEAK P&l
94. 4 76 94. 39 6. 50 2. 00 1. 00
& ] L AR SR By T 6. 50 2. 40 0. 00 0.50] -149.0 0.0 187. 38. 39,289. 0|7 2 7 7 /L st
94.5 39 94. 76 6. 50 2. 50 0. 50
& ] L AR SR B T 6. 50 2. 40 0. 00 0. 30 68.0 0.0 0. 68. 39, 357. 0|7 2 7 7 /L st
94.5 76 94. 44 6. 50 2. 50 0. 25
& R B SR B T 6. 50 2.00 1. 00 1. 00 -6.0 0.0 39. 33. 39, 390. 0|7 2 7 7 /L it
94. 6 44 94. 76 6. 50 2. 00 1. 00
& R SR B T 6. 50 2.00 1. 00 1. 00 100.0 0.0 0. 100. 39, 490. 0|7 2 7 7 /L it
94. 6 76 94. 64 6. 50 2. 00 1. 00
& R SR B T 6. 50 2.00 1. 00 1. 00 100.0 0.0 0. 100. 39, 590. 0 [HE/K P &%k
94.7 64 94. 76 6. 50 2. 00 1. 00
& B 4 BT 1 6. 50 2. 50 1. 00 1. 00 81.0 0.0 0. 81. 39, 671. O|HEKPE A%
94. 8 76 94. 57 6. 50 2. 00 1. 00
& B 4 BT T 9.75 2. 50 2.00 0.25 119.0 0.0 0. 119. 39, 790. O [HE/K P A%k
94.9 57 95. 76 9.75 2. 50 0. 50
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A4 0003 Bl

& = it s
X i (EBe: B, TEB:THD m m JENNAE BT O FEEA i =
HoE | B E | OB B | E B |y & TR it 5%
m

[ VL AR S B T 9.75 2.50 2.00 0.25 100.0 0.0 0. 100. 39, 890. O |HEZK Pk
95. 0 76 ~ 95. 79 9.75 2. 50 0. 50

1 [ VL AR S 05 T 9.75 2.50 2.00 0.25 100. 0 0.0 0. 100. 39, 990. O |HEA ML
95. 1 79 ~ 95. 76 9.75 2. 50 0. 50

T VL AR S 05 T 9.75 2.20 2.00 0. 50 0.0 0.0 18. 18. 40, 008. 0 [HEAK Ml
95. 2 76 ~ 95. 94 9.75 2. 20 0. 50

1 [ VL AR S 0 T 9.75 2.50 2.00 0. 50 82.0 0.0 0. 82. 40, 090. 0 [HEAK Ml
95. 2 94 ~ 95. 75 9.75 2. 00 0. 50

[ VL AR S 0 T 9.75 2.50 2.00 0. 50 92.6 0.0 7. 100. 40, 190. 0| 7 2 7 7 /v ik
95. 3 75 ~ 95. 75 9.75 2. 00 0. 50

[ VL AR S 0 T 6. 50 2.50 2.00 0.75 100. 0 0.0 0. 100. 40, 290. 0| 7 2 7 7 /v |k
95. 4 75 ~ 95. 77 6. 50 2. 00 0. 50

T [ VL AR S B T 6. 50 2.50 1. 00 0.75 38. 7 0.0 47. 86. 40, 376. 0| 7 2 7 7 )L [k
95.5 77 ~ 95. 63 6. 50 2. 00 0. 50

& R B SR B T 6. 50 3.20 1. 00 0. 50 -1.8 0.0 24. 23. 40, 399. 0| 7 2 7 7 v a#E
95. 6 63 ~ 95. 36 6. 50 3. 30 0. 50

& R SR B T 6. 50 2.15 1. 50 0.75 86.9 0.0 4, 91. 40, 490. 0| 7 2 7 7 v afE
95. 6 86 ~ 95. 82 6. 50 2.25 0. 50

& R SR B T 6. 50 2.15 2.00 0.75 -88.0 0.0 130. 42. 40, 532. 0| 7 2 7 7 v s
95.7 82 ~ 95. 22 6. 50 2.25 0. 50

& B 4 BT T 7.00 0. 00 2.00 0.75 130.0 0.0 0. 130. 40, 662. 0| 7 2 7 7 v s
95. 8 20 ~ 95. 70 7. 00 0. 00 0.75

& B 4 BT 1 7.00 0. 00 2.00 0.75 30.0 0.0 0. 30. 40, 692. 0| 7 2 7 7 v s
95.9 70 ~ 96. 0 7. 00 0. 00 0.75

& B 4 BT T 7.00 0. 00 2.00 0.75 95.3 0.0 4, 100. 40,792. 0| 7 2 7 7 v aAE
96. 0 0 ~ 96. 0 7. 00 0. 00 0.75

15 [ VL AR R B T 7.00 5. 00 2.00 1. 50 39.8 0.0 60. 100. 40, 892. 0| 7 2 7 7 v aidE
96. 1 0 ~ 96. 0 7. 00 5. 00 1.50
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X i (EBe: B, TEB:THD m m JENNAE BT O FEEA i =
HoE | & B | oW | B OB | B B | b & TR it 5% 3
m

[ VL AR S B T 7.00 3. 50 2.00 1.50 7.0 0.0 93.0 100.0| 40, 992. 0|7 27 7 /L Ntk
96. 2 0 ~ 96. 3 0 7. 00 3.50 1.50

1 [ VL AR S 05 T 7.00 4.00 2.00 1.50 94. 8 0.0 5.2 100.0| 41, 092. 0|7 27 7 /L Ntk
96. 3 0 ~ 96. 4 0 7. 00 3. 50 1.50

T VL AR S 05 T 7.00 5. 00 2.00 1.50 73.2 0.0 11.8 85.0 41, 177. 0|7 =27 7 v Mk
96. 4 0 ~ 96. 4 85 7.00 5. 00 1.50

1 [ VL AR S 0 T 7.00 5. 00 2.00 1.19 0.0 0.0 19.0 19.0|  41,196.0|7 27 7 /L Nk
96. 4 85 ~ 96. 5 4 7. 00 5. 00 1.19

[ VL AR S 0 T 7.00 5.00 2.00 1.19 90. 8 0.0 5.2 96. 0| 41,292. 0|7 =27 7 v Nk
96. 5 4 ~ 96. 6 5 7. 00 5. 00 1.19

[ VL AR S 0 T 7.00 5.00 2.50 0.75 100. 0 0.0 0.0 100.0|  41,392. 0|7 27 7 /L Nk
96. 6 5 ~ 96. 7 0 7. 00 5. 00 0.75

T [ VL AR S B T 7.00 5. 00 2.49 1. 02 100. 0 0.0 0.0 100.0|  41,492. 0|7 2 7 7 /L [k
96. 7 0 ~ 96. 8 0 7. 00 5. 00 1.02

& R B SR B T 7.00 5. 00 2.00 1. 50 90.5 0.0 9.5 100.0|  41,592. 0|7 27 7 L sk
96. 8 0 ~ 96.9 0 7.00 5. 00 1.50

& R SR B T 7.00 5. 00 2.00 1. 50 100.0 0.0 0.0 100.0|  41,692.0|7 27 7 L st
96.9 0 ~ 97.0 0 7. 00 5. 00 1.50

& R SR B T 7.00 5. 00 2.00 1. 50 100.0 0.0 0.0 100.0|  41,792.0|7 27 7 L st
97.0 0 ~ 97.1 0 7. 00 5. 00 1.50

& B 4 BT T 7.00 5. 00 2.00 1. 50 95.0 0.0 5.0 100.0|  41,892.0|7 27 7 /L st
97.1 0 ~ 97.2 0 7. 00 5. 00 1.50

& B 4 BT 1 7.00 5. 00 2.00 1. 50 100.0 0.0 0.0 100.0|  41,992.0(7 27 7 L st
97.2 0 ~ 97.3 0 7. 00 5. 00 1.50

& B 4 BT T 7.00 5. 00 2.00 1. 50 37.2 0.0 62.8 100.0|  42,092.0(7 27 7 v st
97.3 0 ~ 97.4 0 7. 00 5. 00 1.50

15 [ VL AR R B T 7.00 0. 00 2.00 0.75 87.0 0.0 0.0 87.0|  42,179.0|7 2 7 7 )L sk
97.4 0 ~ 97.4 87 7. 00 0. 00 0.75
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HoE | & B | oW | B OB | B B | b & TR it 5% 3
m
[ VL AR S B T 7.00 0. 00 2.00 0.75 0.0 0.0 135.0 135.0| 42, 314. 0|7 27 7 /L Ntk
97. 4 87 ~ 97. 6 22 7.00 0. 00 0.75
1 [ VL AR S 05 T 7.00 2.00 2.00 1.00 22.8 0.0 15.2 38.0 42,352.0|7 =27 7 v Nk
97.6 22 ~ 97.7 2 7. 00 3. 00 1.30
T VL AR S 05 T 7.00 1.00 2.00 1.25 100. 0 0.0 0.0 100.0| 42, 452. 0|7 2 7 7 /L Nk
97.7 2 ~ 97.8 2 7.00 2. 80 0.75
1 [ VL AR S 0 T 7.00 1.50 2.00 0.75 43.4 0.0 56. 6 100. 0| 42, 552. 0|7k Pk
97.8 2 ~ 97.9 3 3. 50 2. 80 1.25
[ VL AR S 0 T 7.00 1.50 0. 00 0.75 100. 0 0.0 0.0 100.0| 42, 652. 0|HE7k Pk
97.9 3 ~ 98.0 4 3.25 2. 80 2.25
[ VL AR S 0 T 7.00 2.70 0. 00 0.75 100.0 0.0 0.0 100.0| 42, 752. 0 [HEAK Pk
98. 0 4 ~ 98. 1 4 3.25 2. 80 1.05
T [ VL AR S B T 3.25 2.70 0.00 1.15 100. 0 0.0 0.0 100.0| 42, 852. O|HE7k Pk
98. 1 4 ~ 98. 2 4 3.25 2. 80 1.00
& R B SR B T 3.25 2.70 0. 00 1. 30 100.0 0.0 0.0 100. 0| 42, 952. O|HEAK Mtk
98. 2 4 ~ 98. 3 5 3.25 2. 80 0. 85
& R SR B T 3.25 2.70 0. 00 1.30[ -650.5 0.0 705.5 55.0|  43,007.0|7 &7 7 /L s
98. 3 5 ~ 98. 3 60 3.25 2. 80 0. 85
& R B SR B T 3.25 1. 50 0. 00 1.15 45.0 0.0 0.0 45.0| 43, 052.0(7 2 7 7 /L st
98. 3 60 ~ 98.3 105 3.25 1. 00 0. 85
& R SR B T 3.25 1. 50 0. 00 2.15 100.0 0.0 0.0 100.0|  43,152. 0|7 2 7 7 L st
98.3 105 ~ 98. 4 88 3.25 1.50 0.75
& B 4R BT 1 3.25 2.00 0. 00 1. 60 48.7 0.0 64.3 113.0|  43,265.0|7 27 7 L st
98. 4 88 ~ 98.5 101 3.25 1.50 1.95
& B 4 BT T 3.25 1. 50 0. 00 1.25 100.0 0.0 0.0 100.0|  43,365.0[7 27 7 L st
98.5 101 ~ 98.7 1 3.25 1.50 0. 50
& B 4 BT T 3.25 1. 50 0. 00 1. 60 78.0 0.0 0.0 78.0|  43,443.0|7 A 7 7L %
98.7 1~ 98.7 79 3.25 1.50 0.75
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[ VL AR S B T 3.25 1.50 0. 00 2.15 -1.5 0.0 16.5 15.0|  43,458.0|7 A 7 7 /L Nk
98.7 79 ~ 98.7 94 3.25 1.50 0.75

1 [ VL AR S 05 T 3.25 4. 50 0. 00 1.35 107.0 0.0 0.0 107.0| 43, 565. 0|7 27 7 /L [tk
98.7 94 ~ 98.9 1 3.25 4. 50 0. 95

T VL AR S 05 T 3.25 5. 50 0. 00 1.35 104.0 0.0 0.0 104.0| 43, 669. 0|7 27 7 /L Nk
98.9 1 ~ 99. 0 5 3.25 4. 50 1.05

1 [ VL AR S 0 T 3.25 4. 50 0. 00 1.85 88.9 0.0 1.1 100.0|  43,769.0|7 27 7 /L [k
99. 0 5 ~ 99. 1 2 3.25 4. 50 0. 95

[ VL AR S 0 T 3.25 9.50 0. 00 1.00 100. 0 0.0 0.0 100.0|  43,869.0|7 27 7 /L [k
99. 1 2 ~ 99. 2 2 3.25 9. 50 1.30

[ VL AR S 0 T 3.25 7.00 0. 00 1.05 55. 8 0.0 24.2 80.0| 43,949. 0|7 =27 7 v Nk
99. 2 2 ~ 99. 2 82 3.25 7. 00 0. 45

T [ VL AR S B T 3.25 4. 50 0.00 0.75 -0.2 0.0 24.2 24.0  43,973. 0|7 2 7 7 v Nk
99. 2 82 ~ 99. 3 6 6. 50 4. 50 1.20

& R B SR B T 3.25 9. 50 0. 00 2.25 96.0 0.0 0.0 96.0| 44, 069.0|7 27 7 L st
99. 3 6 ~ 99.3 100 6. 50 9. 50 1.50

& R SR B T 3.25 9. 50 0. 00 2.25 100.0 0.0 0.0 100.0| 44, 169.0|7 2 7 7 L st
99.3 100 ~ 99. 5 0 6. 50 9. 50 1.50

& R SR B T 3.25 9. 50 0. 00 1.75 100.0 0.0 0.0 100.0|  44,269.0|7 27 7 L sk
99. 5 0 ~ 99. 6 2 6. 50 9. 50 1.50

& B 4 BT T 6. 50 9. 50 0. 00 1.75 100.0 0.0 0.0 100. 0| 44, 369. O|HE/K M: &%k
99. 6 2 ~ 99. 7 0 6. 50 9. 50 1.50

& B 4 BT 1 7.00 9. 00 0. 00 1.75 100.0 0.0 0.0 100. 0| 44, 469. O|HE/K M &%k
99.7 0 ~ 99. 8 0 7. 00 9. 50 1.50

& B 4 BT T 7.00 9. 00 0. 00 1.75 100.0 0.0 0.0 100. 0| 44, 569. O |HE/K &%k
99. 8 0 ~ 99.8 100 7. 00 9. 50 1.50

15 [ VL AR R B T 7.00 3. 50 2.00 0. 50 100.0 0.0 0.0 100. 0| 44, 669. O |HE/K &%k
99.8 100 ~  100.0 2 7. 00 4.50 0. 50
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1@ i) WL L S T 7.00 3.00 2. 00 0. 50 100. 0 0.0 0. 100. 44, 769. 0|#HEA MG
100.0 2 100. 2 7.00 4.50 0. 50

1 i) WL LR T 7.00 3.00 2. 00 0. 50 80. 0 0.0 0. 80. 44, 849. O|HEA MGkt

100. 1 2 100. 80 7.00 4.50 0. 50

8 o] B AR KT 3.25 0. 00 0. 00 0.35 59.0 0.0 0. 59. 44, 908. 0| 7 =2 7 7 /v | Ak
112.3 113 112. 172 3.25 2.00 0.35

&l B A BE KT 3.50 0. 00 0. 00 0. 50 95. 4 0.0 5. 101. 45, 009. 0| 7 =2 7 7 /v | dfidk
112.3 172 113. 100 3.50 2.00 0.50

& i) B AR KT 3.50 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 45, 109. OHEA &%
113.7 100 113. 96 3.50 2.00 0.50

& ol B A BE KT 3.50 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 45, 209. 0|HEA M At

113.8 96 113. 97 3.50 2.00 0.50

& il B A BE KT 3.50 1.50 0. 00 0. 50 100. 0 0.0 0. 100. 45, 309. 0| Pk M EidE
113.9 97 114. 12 3.50 2. 00 0.50

Y N 3.50 1.50 0. 00 0.50 100. 0 0.0 0. 100. 45, 409. 0| ek & dE
114.1 12 114. 113 3.50 3.00 0.50

& [l WA BE KT 3.50 1.50 0. 00 0.50 100. 0 0.0 0. 100. 45, 509. 0| ek M5 %E
114.1 113 114. 98 3.50 2.50 0.50

&l W A BE KT 3.50 1.50 0. 00 0.75 100. 0 0.0 0. 100. 45, 609. 0| HEAK M 5%E
114.2 98 114. 198 3.50 2.00 0.75

el WA BB KT 3.50 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 45, 709. 0| HEAK M Ai%E
114.2 198 114. 84 3.50 2. 00 0.75

Y S ST 3.50 2. 00 0. 00 0. 80 100. 0 0.0 0. 100. 45, 809. 0| HEAK M Ei%E
114.4 84 114. 94 3.50 2.50 1. 10

el W A BB KT 3.50 2. 00 0. 00 0.55 100. 0 0.0 0. 100. 45, 909. 0| P M Ai%E
114.5 94 114. 194 3.50 1. 00 0. 50

e il W A BB KT 3.50 1.25 0. 00 2. 00 56. 0 0.0 0. 56. 45, 965. 0| P E%E

114.5 194 114. 23 3.50 1. 50 0. 80
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m
& [ B A BE KT 3.20 0. 00 0. 00 0.50| -262.8 0.0 408. 146. 46, 111. 0| 7 2 7 7 /v | it
114.7 23 114. 91 3.20 2.00 0. 50
18 [ B AR KT 3.20 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 46,211.0( 7 2 7 7 /b bk
114.8 91 115. 5 3.20 2.00 0. 50
A8l B A BE KT 3.25 0. 00 0. 00 1.15 80. 0 0.0 0. 80. 46,291. 0|7 2 7 7 /L Al
115.0 5 115. 85 3.25 2. 00 1.25
& foe) B A BE KT 3.50 2. 50 0. 00 0.75 95. 4 0.0 4. 100. 46,391.0( 7 2 7 7 /L il
115.0 85 115. 99 3.50 1.50 0.75
& o] B A BE KT 3.50 2. 50 0. 00 0.75 121.0 0.0 0. 121. 46, 512. O|HEA &%
115. 1 99 115. 118 3.50 1.50 0.75
& [l B AR KT 3.50 3. 00 0. 00 0.75 77.0 0.0 0. 7. 46, 589. OHEA &R %
115.2 118 115. 79 3.50 1. 40 0.75
& [l B A BE KT 3.50 2. 00 0. 00 0. 50 60.0 0.0 0. 60. 46, 649. O|HEA P& %
115.3 79 115. 51 3.50 2. 00 0.50
L YSE S N 3.37 0.95 0. 00 0.50 16.9 0.0 9. 26. 46, 675. 0|5 /K M Ai%E
115.4 51 115. 76 3.37 0.95 0.50
&l WA BE KT 3.50 1.15 0. 00 0.30 115.0 0.0 0. 115. 46, 790. 0| F /K PEE%E
115.4 76 115. 85 3.50 1.15 0.30
&l B A BE KT 3.50 0. 80 0. 00 0.30 149. 0 0.0 0. 149. 46, 939. 0| ek M Ei%E
115.5 85 115. 34 3.50 0.75 0.30
el W A BB KT 3.50 0. 90 0. 00 0.35 100. 0 0.0 0. 100. 47, 039. 0| ek A %E
115.7 34 115. 134 3.50 0.90 0.35
& il WA BB K 3.50 1.10 0. 00 0.75 97.0 0.0 3. 100. 47, 139. 0| Pk A%
115.7 134 115. 81 3.50 1. 10 0.75
il W A BB K 3.50 1.10 0. 00 0.75 100. 0 0.0 0. 100. 47, 239. 0| HEAK M5 %E
115.8 81 115. 77 3.50 1. 10 0.75
el W A BB KT 3.50 1.25 0. 00 0.75 100. 0 0.0 0. 100. 47, 339. 0| HEAK A%
115.9 77 116. 95 3.50 1.25 0.75
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OB | A B | oFER | B OB | E B | b 1 TERR AR g
m
& [ B A BE KT 3. 50 1.35 0. 00 0. 65 100.0 0.0 0.0 100.0| 47, 439. O|HEK PEAfA:
116.0 95 ~  116.1 93 3.50 1. 20 0. 65
18 o] B AR KT 3. 50 1.35 0. 00 0. 65 100.0 0.0 0.0 100.0| 47, 539. O|HEsk PEAdA:
116. 1 93 ~  116.3 9 3.50 1.20 0. 65
8 o] B A BE KT 3.50 1.35 0. 00 0. 50 77.0 0.0 0.0 77.0( 47, 616. O[HEAK LA
116.3 9~ 116.3 86 3.50 1.20 0.50
&l B A BE KT 7.00 3. 00 1.00 1. 00 147.0 0.0 0.0 147.0| 47, 763. O| Pk PEAh%E
116.3 86 ~  116.5 0 7.00 3. 00 1.00
& i) B AR KT 7.00 3. 00 1.00 1. 00 79.0 0.0 0.0 79.0( 47, 842. 0[Pk AL
116.5 0~ 116.5 79 7.00 3.00 1.00
& [l B AR KT 3.50 3. 00 1.00 0.75 90.0 0.0 0.0 90.0| 47, 932. 0| P MeAhidE
116.5 79 ~  116.6 66 7.00 2.50 0.50
& il B A BE KT 3.50 2. 50 0. 00 0.50 102.0 0.0 0.0 102. 0| 48, 034. O| ek PEEH%E
116.6 66 ~  116.7 92 7.00 2.20 0.50
&l B A BE KT 3.50 1.70 0. 00 0.50 100. 0 0.0 0.0 100. 0| 48, 134. O|HE/KPEAH%E
116.7 92 ~  116.8 92 7.00 2.20 0.50
&l WA BB KT 3.50 1.50 0. 00 0.50 100. 0 0.0 0.0 100. 0| 48, 234. O|HE/K LA %E
116.8 92 ~ 116.9 70 3.50 2.20 0.50
& [l WA BB KT 3.50 1.80 0. 00 0.50 122.0 0.0 0.0 122.0| 48, 356. O|HE/KPEA%E
116.9 70 ~  116.9 192 3.50 2.20 0.50
el W A BB KT 3.50 1.90 0. 00 0.50 119.0 0.0 0.0 119.0| 48, 475. O|HE/K LA %E
116.9 192 ~  117.2 11 3.50 1. 80 0.50
el B A BB KT 3.50 1.30 0. 00 0.50 100. 0 0.0 0.0 100. 0| 48, 575. O|HE/KPEA%E
117.2 11~  117.3 5 3.50 2. 00 0.50
e [ W A BB KT 3.50 1.80 0. 00 0.50 100. 0 0.0 0.0 100. 0| 48, 675. O|HE/KMEA%E
117.3 5~  117.4 4 3.50 2. 00 0.50
e [l W A BB KT 3.50 1.10 0. 00 0.50 100. 0 0.0 0.0 100. 0| 48, 775. O|HE/K LA %E
117. 4 4~ 117.5 20 3.50 1.90 0.50
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X (BB Eofl, TEBe: T YD) m m EINGE £ T O FEFA T
OB | A B | OREH B | E K| hrxv 1 TERR AR
m
& [ B A BE KT 3. 50 1.30 0. 00 0. 50 100.0 0.0 0. 100.0| 48, 875. O|HEsK PEA:
117.5 20 117. 121 3.50 2.30 0. 50
18 o] B AR KT 3. 50 1.50 0. 00 0. 50 100.0 0.0 0. 100.0| 48, 975. O|HEsk PEAdA:
117.5 121 117. 100 3.50 2.30 0. 50
8 o] B A BE KT 3.50 1.00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 49, 075. O|PEsk PEAh%E
117.6 100 117. 100 3.50 2.20 0.50
& [ B AR KT 3.50 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 49, 175. O| ek PEAH%E
117.7 100 117. 100 3.50 1. 80 0.50
&l B A BE KT 3.50 2. 40 0. 00 0. 50 100. 0 0.0 0. 100. 0| 49, 275. O| ek PEAf%E
117.8 100 117. 100 3.50 1. 80 0.50
& ol B AR KT 3.50 2. 50 0. 00 0. 50 115.0 0.0 0. 115.0| 49, 390. O|HEzk PEAf%E
117.9 100 118. 117 3.50 1.50 0.50
&l B AR KT 3.50 1.00 0. 00 0. 50 85.0 0.0 0. 85.0( 49, 475. 0[HEAK AL
118.0 117 118. 83 3.50 1.50 0.50
L YSE S N 3.50 2. 60 0. 00 0.50 100. 0 0.0 0. 100. 0| 49, 575. O|HE/K PEAH%E
118.1 83 118. 93 3.50 2.25 0.50
& [l WA BE KT 3.50 6. 20 0. 00 0.50 89.9 0.0 10. 100. 0| 49, 675. O|HE/KPEE%E
118.2 93 118. 8 3.50 6. 60 0.50
A8 o] VR B KT 3.50 1.50 0. 00 0. 50 120.0 0.0 0.0 120.0|  49,795.0|7 A7 7 /L ik
118.4 8 ~ 118.5 14 3.50 3.00 0.50
Y i 3.50 1.70 0. 00 0. 50 80. 0 0.0 0.0 80.0| 49,875.0|7 27 7 /L ik
118.5 14 ~ 118.5 94 3.50 2.23 0.50
g o] VR RE KT 3.50 1.25 0. 00 1.10 100. 0 0.0 0.0 100.0| 49, 975.0|7 2 7 7 /L ik
118.5 94~ 118.6 73 3.50 2. 00 0.50
e [ W A BB KT 3.50 1.30 0. 00 0.50 100. 0 0.0 0.0 100. 0| 50, 075. O|HE/KMEE%E
118.6 73~ 118.7 87 3.50 1.25 0.50
e [l W A BB KT 3.50 1.00 0. 00 0.50 107.0 0.0 0.0 107.0| 50, 182. O|HE/KMEA%E
118.7 87~ 118.7 195 3.50 2. 00 0.50
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A 0 0003 BliE

g = HE £
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OB | A B | oFER | B OB | E B | b 1 TERR AR g
m

& [ B A BE KT 3. 50 1.80 0. 00 0. 50 119.0 0.0 0.0 119.0| 50, 301. O|HEK Mg
118.7 195 ~  119.0 14 3.50 1. 80 0. 50

18 o] B AR KT 3. 50 1.80 0. 00 0. 50 124.0 0.0 0.0 124.0| 50, 425. O|HEsK Mg
119.0 14 ~  119.1 38 3.50 1. 80 0. 50

8 o] B A BE KT 3.50 1.70 0. 00 0. 50 98.0 0.0 2.0 100. 0| 50, 525. O| ek PEAf%E
119.1 38 ~  119.2 15 3.50 2.50 0.50

& [ B AR KT 3.50 2. 10 0. 00 0.75 100. 0 0.0 0.0 100. 0| 50, 625. O| ek PEAH%E
119.2 15~  119.2 116 3.50 1.56 0.75

&l B A BE KT 3.50 2. 90 0. 00 0.75 89.9 0.0 10.1 100. 0| 50, 725. O|HE/k PEAf%E
119.2 116 ~  119.4 8 3.50 0.75 0.75

& ol B AR KT 3.50 1.35 0. 00 0.75 100. 0 0.0 0.0 100.0|  50,825.0|7 27 7 /L ik
119.4 8 ~ 119.4 109 3.50 1.50 0.75

&l B AR KT 3.50 1.85 0. 00 0.75 100. 0 0.0 0.0 100.0| 50, 925.0|7 27 7 /L [k
119.4 109 ~  119.6 5 3.50 1.70 0.75

Y N 3.50 1.20 0. 00 0.75 100. 0 0.0 0.0 100. 0| 51, 025. O|HE/KPEE%E
119.6 5~ 119.6 106 3.50 2.50 0.75

&l WA BB KT 3.50 1.70 0. 00 0.75 100. 0 0.0 0.0 100. 0| 51, 125. O|HE/KPEE%E
119.6 106 ~  119.8 5 3.50 2.10 0.75

el B A BB KT 3.50 1.50 0. 00 2.35 100. 0 0.0 0.0 100. 0| 51, 225. O|HE/kPEA%E
119.8 5~  119.9 7 3.50 1.95 2.35

el WA BB KT 3.50 2.05 0. 00 0.75 100. 0 0.0 0.0 100. 0| 51, 325. O|HE/KPEE %
119.9 7~ 119.9 108 3.50 2.75 0.75

el W A BB KT 3.50 2.25 0. 00 0.75 100. 0 0.0 0.0 100. 0| 51, 425. O|HE/KPEE%E
119.9 108 ~  120.0 95 3.50 2. 00 0.75

g o] VR R K T 3.50 2. 20 0. 00 0.75 100. 0 0.0 0.0 100.0|  51,525.0|7 27 7 /L itk
120.0 95 ~  120.2 3 3.50 2. 00 0.75

el W A BB KT 3.50 2. 40 0. 00 0.75 100. 0 0.0 0.0 100.0|  51,625.0|7 27 7 /L ik
120. 2 3~  120.2 104 3.50 2. 40 0.75
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X (B B, FE TN m m I NNAE & T O FEFA (T
OB | A B | oFER | B OB | E B | b 1 TERR AR g
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& [ B A BE KT 3. 50 2. 00 0. 00 0.75 109. 9 0.0 10. 1 120.0|  51,745.0|7 27 7 /L ik
120.2 104 ~  120.3 103 3.50 2.00 0.75

18 o] B AR KT 3. 50 1.15 0. 00 0.75 80. 0 0.0 0.0 80.0| 51,825.0|7 %7 7 /L Lk
120.3 103 ~  120.4 79 3.50 2. 40 0.75

8 o] B AR KT 3.50 1.05 0. 00 0.75 121.0 0.0 0.0 121.0|  51,946.0|7 2 7 7 /L ik
120.4 79~  120.5 100 3.50 2.50 0.75

& [ B A BE KT 3. 50 1.60 0. 00 0.75 100. 0 0.0 0.0 100.0|  52,046.0|7 27 7 /L ik
120.5 100 ~  120.6 93 3.50 3.10 0.75

& i) B AR KT 3.50 1.35 0. 00 0.75 100. 0 0.0 0.0 100.0| 52, 146.0|7 2 7 7 /L ik
120.6 93 ~  120.7 87 3.50 2.00 0.75

& ol B A BE KT 3.50 1.25 0. 00 0.75 100. 0 0.0 0.0 100.0|  52,246.0|7 27 7 /L %k
120.7 87~ 120.8 98 3.50 1.95 0.75

& il B A BE KT 3.50 1.25 0. 00 0.75 100. 0 0.0 0.0 100.0|  52,346.0|7 2 7 7 /L ik
120.8 98 ~  121.0 9 3.50 2. 80 0.75

Y N 3.50 1.30 0. 00 0.75 100. 0 0.0 0.0 100.0|  52,446.0|7 27 7 /L ik
121.0 9 ~ 121.0 110 3.50 2.30 0.75

& [l WA BE KT 3.50 1.75 0. 00 1. 60 100. 0 0.0 0.0 100.0|  52,546.0|7 2 7 7 /L ik
121.0 110 ~  121.1 101 3.50 2.25 1.58

&l W A BE KT 3.50 1.70 0. 00 0.75 100. 0 0.0 0.0 100.0|  52,646.0|7 27 7 /L ik
121.1 101 ~  121.3 8 3.50 2. 40 0.75

el WA BB KT 3.50 1.55 0. 00 2. 50 100. 0 0.0 0.0 100.0|  52,746.0|7 27 7 /L ik
121.3 8 ~  121.4 9 3.50 1.95 0.75

Y S ST 3.50 1. 45 0. 00 3. 40 100. 0 0.0 0.0 100.0|  52,846.0|7 2 7 7 /L il
121. 4 9~  121.4 110 3.50 2. 00 0.75

el W A BB KT 3.50 3. 50 0. 00 2.85 100. 0 0.0 0.0 100.0|  52,946.0|7 2 7 7 /L itk
121.4 110 ~  121.5 91 3.50 2.75 0.75

e il W A BB KT 3.50 2. 60 0. 00 0.75 100. 0 0.0 0.0 100.0|  53,046. 0|7 A 7 7 /L &%k
121.5 91 ~ 121.6 81 3.50 3.50 0.75
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& [ B A BE KT 3. 50 2. 50 0. 00 1.05 96. 5 0.0 3.5 100.0| 53, 146.0|7 27 7 /L &k
121.6 81 ~ 121.8 5 3.50 2. 60 0.75

18 o] B AR KT 3. 50 2. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  53,246.0|7 27 7 /L ik
121.8 5~ 121.8 107 3. 50 2. 00 0.75

8 o] B A BE KT 3.50 1.00 0. 00 3.70 100. 0 0.0 0.0 100.0|  53,346.0|7 27 7 /L ik
121.8 107 ~ 121.9 97 3.50 2. 00 0.75

& [ B AR KT 3. 50 1.00 0. 00 3.70 45.0 0.0 0.0 45.0|  53,391.0|7 X7 7 /L MLk
121.9 97 ~  122.0 36 3.50 2. 00 0.75

& i) B A BE KT 3.50 1.50 4.00 0.75 126.0 0.0 0.0 126.0|  53,517.0|7 27 7 /L ik
122.0 36 ~  122.1 48 3.50 3. 00 0.75

& ol B A BE KT 3.50 2. 00 0. 00 0.75 131.0 0.0 0.0 131.0| 53,648.0|7 2 7 7 /L ik
122. 1 48 ~  122.2 97 3.50 1.85 0.75

& il B A BE KT 3.50 3. 50 0. 00 0.75 100. 0 0.0 0.0 100.0|  53,748.0|7 2 7 7 /L ik
122. 2 97 ~  122.3 97 3.50 1. 80 0.75

Y N 3.50 1.80 0. 00 0. 50 100. 0 0.0 0.0 100.0|  53,848.0|7 2 7 7 /L ik
122. 3 97 ~  122.4 93 3.50 2. 00 0. 50

& [l WA BE KT 3.25 2. 00 0. 00 0. 50 60. 0 0.0 0.0 60.0| 53,908.0|7 % 7 7 /L hfi%E
122.4 93 ~  122.5 55 3.20 2. 50 0. 50

el W A BE KT 3.25 2. 00 0. 00 0.75 140. 0 0.0 0.0 140.0| 54, 048.0|7 2 7 7 /L ik
122.5 55 ~  122.6 103 3.20 2. 50 0. 50

g [ B I\ 2z BB ) 1| BT 3.50 5. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 54,148.0|7 27 7 /L &%k
122.6 103 ~  122.7 86 3.50 3.00 0. 50

g [l B\ 2 BB ) 1T 3.50 3. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 54,248.0(7 27 7 /L &%k
122. 7 86 ~  122.8 77 3.50 3. 00 0. 50

g [l B J\ 2z BB S ) 1 T 3.50 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 54,348.0(7 27 7 /L %k
122. 8 77~  122.9 86 3.50 3. 00 0. 50

g [l B J\ 2z BB ) 1T 3.50 2. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  54,448.0|7 2 7 7 /L ik
122.9 86 ~  123.0 87 3.50 2. 00 0. 50
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A8 ] Ve I\ 2 BB AT 3. 50 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 54,548.0(7 27 7 /L A%k
123.0 87 ~  123.1 93 3. 50 2. 00 0. 50

8 [ U I\ L BB S | T 3.50 2.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  54,648.0|7 27 7 /L ik
123.1 93 ~  123.2 90 3.50 2. 00 0. 50

8 U I\ L BB | T 3.50 2.00 0. 00 3.00 100. 0 0.0 0.0 100.0| 54, 748.0|7 2 7 7 /L ik
123.2 90 ~  123.3 87 3.50 5. 50 0. 50

8 A U I\ L BRI | T 3.50 5. 00 0. 00 0. 00 100. 0 0.0 0.0 100.0|  54,848.0|7 2 7 7 /L ik
123.3 87~ 123.4 91 3.50 2. 00 0. 50

8 [ U I\ L BRI | T 3.50 3.00 0. 00 3.50 120.0 0.0 0.0 120.0|  54,968.0|7 27 7 /L ik
123.4 91 ~  123.6 12 3. 50 5. 50 0. 50

8 U I\ L BRI 1 | BT 3.50 1. 50 0. 00 0.75 80.0 0.0 0.0 80.0| 55,048.0|7 %X 7 7 /L Lk
123. 6 12~ 123.6 93 3. 50 2. 00 0.75

8 ) UL\ LB I ) | BT 3.50 3.50 0. 00 0.75 100. 0 0.0 0.0 100.0| 55, 148.0|7 2 7 7 /L &k
123.6 93 ~  123.7 94 3.50 4. 00 0.75

& U\ L BRI 1 BT 3.50 1.60 0. 00 0.75 87.4 0.0 12.6 100.0|  55,248. 0|7 A7 7 /b b &k
123.7 94~ 123.9 7 3.50 3.20 0.75

A8 ] Y I\ ZC BB T 3.50 2.00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 55, 348. O| ek PEAH%E
123.9 7~ 123.9 108 3.50 5. 50 0.75

A8 ] V2 )\ 2 BB T 3.50 2.30 0. 00 0.75 100.0 0.0 0.0 100. 0| 55, 448. O|HE/k PEAH%E
123.9 108 ~  124.0 81 3.50 2. 20 0.75

A8 ] V2 I\ 2 BB T 3.50 1. 60 0. 00 0.75 100.0 0.0 0.0 100. 0| 55, 548. O|HE/k MEAH%E
124.0 81 ~  124.1 79 3.50 7.00 0.75

A8 ] Y )\ 2 BB T 3.50 2.30 0. 00 0.75 100.0 0.0 0.0 100.0| 55, 648. O|HE/KMEAH%E
124. 1 79 ~  124.2 78 3.50 2. 30 0.75

8 o U J\ L BB 1 | T 3.50 1. 20 0. 00 0.75 100. 0 0.0 0.0 100.0| 55, 748. O| ek Pl
124. 2 78 ~  124.3 93 3.50 1. 70 0.75

8 0 U J\ L BB 1 | T 3.50 3.10 0. 00 0.75 100. 0 0.0 0.0 100.0| 55, 848. O|HEsK PEAf:
124.3 93 ~  124.4 97 3.50 2. 30 0.75
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8 ) U J\ L BB ) 1 | T 3.50 2. 00 0. 00 0.75 100. 0 0.0 0.0 100.0| 55, 948. O|HEsK PEA:
124.4 97 ~  124.5 71 3. 50 1. 20 0.75

8 [ U I\ L BB S | T 3.50 2. 50 0. 00 0.75 100. 0 0.0 0.0 100.0| 56, 048. O|HEK PEAf A
124.5 71 ~  124.6 65 3.50 1. 20 0.75

8 U I\ L BB | T 3.50 1. 50 0. 00 0.75 100. 0 0.0 0.0 100.0| 56, 148. O|HEK PEAfA:
124.6 65 ~  124.7 70 3.50 1. 20 0.75

8 A U I\ L BRI | T 3.50 2. 00 0. 00 0.75 126.0 0.0 4.0 130.0| 56,278.0|7 27 7 /L ik
124. 7 70 ~  124.8 109 3.50 1. 80 0.75

8 [ U I\ L BRI | T 3.50 1. 20 0. 00 1. 60 100. 0 0.0 0.0 100.0|  56,378.0|7 27 7 /L ik
124.8 109 ~  125.0 7 3. 50 1. 30 1. 40

e ) Uk N2 BRI 1 BT 3.50 1.10 0. 00 1.10 100.0 0.0 0.0 100. 0| 56, 478. O[HE/K A2k
125.0 7~  125.1 12 3. 50 1. 60 0. 80

e ] Y J\ BRI 1T 3.50 2.00 0. 00 1.90 97.0 0.0 3.0 100.0| 56, 578. O[HEK A2k
125. 1 12 ~  125.2 29 3.50 2. 00 1. 00

TR T R\ £ BRI ) BT 3. 50 2. 00 0. 00 2.20 97.5 0.0 2.5 100.0| 56, 678. O[HE/K Ak
125. 2 29 ~  125.3 11 3.50 2. 00 1. 00

A8 ] V2 I\ ZC BB T 3.50 2.30 0. 00 0.80 87.1 0.0 12.9 100.0| 56, 778. O|HE/k PEAH%E
125.3 11 ~  125.3 111 3.50 1. 00 0. 90

A8 ] V2 I\ 2 BB T 3.50 2. 00 0. 00 2.20 97.0 0.0 3.0 100.0| 56, 878. 0| ek PEAH%E
125.3 111 ~  125.4 99 3.50 1. 40 0. 80

A8 ] V2 )\ 2 BB T 3.50 2.00 0. 00 0.80 100. 0 0.0 0.0 100.0| 56, 978. O|HE K MEAH%E
125.4 99 ~  125.6 7 3.50 2. 00 0.75

A8 ] W I\ 2 BB T 3.50 2.00 0. 00 1. 40 100.0 0.0 0.0 100.0| 57, 078. O|HE K MEAH%E
125. 6 7~  125.7 8 3.50 2. 30 0.75

8 0 U J\ L BB 1 | T 3.50 1. 80 0. 00 0.90 100. 0 0.0 0.0 100.0| 57, 178. O|HEsk Pk
125. 7 8 ~ 125.7 109 3.50 1. 80 0.75

8 0 U J\ LR 1 | T 3.50 2. 50 0. 00 1.05 100. 0 0.0 0.0 100.0| 57, 278. O|HEsk PEAd:
125.7 109 ~  125.8 99 3.50 2. 20 0.75
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TR ] U J\ £ BB S ) L[ WT 3. 50 2.70 0. 00 0.75 100.0 0.0 0.0 100.0| 57, 378. O|HE/k MEAH%E
125. 8 99 ~  125.9 99 3. 50 2. 70 0.75

TR R I\ 2 BB S ) L[ WT 3. 50 2. 00 0. 00 0.75 97.0 0.0 0.0 97.0 57, 475. O|HEAK AL
125.9 99 ~  126.0 70 3.50 2. 20 0.75

Tt U J\ 2 BB S ) L[ WT 3. 50 2. 50 0. 00 0.75 0.4 0.0 22.6 23.0|  57,498.0|7 % 7 7 /L Nk
126. 0 70 ~  126.0 93 3.50 1. 50 0.75

e ) Uk )\ 2 BRI 1 BT 3.50 1.00 0. 00 0.75 81.0 0.0 0.0 81.0| 57, 579. 0|HEKMEAHL:
126. 0 93 ~  126.1 79 3.50 1. 50 0.75

e ) Uk J\ 2 BRI 1 /T 3.50 2.00 0. 00 1.05 100.0 0.0 0.0 100.0| 57, 679. O[HEK Ak
126. 1 79 ~  126.2 99 3.50 2. 00 1.05

e ) Uk N 2 BRI 1 BT 3.50 1.50 0. 00 1.05 100.0 0.0 0.0 100.0| 57, 779. O[HE/K A2k
126. 2 99 ~  126.3 99 3.50 1. 50 1. 00

& e Y N BRI 1T 3.50 1.50 0. 00 2.50 80. 0 0.0 0.0 80.0| 57, 859. O|HE/KMEAHL:
126. 3 99 ~  126.4 75 3.50 2. 30 2. 30

K& B\ LT 3.50 1.50 0. 00 0. 65 120.0 0.0 0.0 120.0| 57, 979. 0|k MakiLs
126. 4 75 ~  126.6 3 3.50 1. 50 1. 50

KR\ LT 3.50 1.50 0. 00 0.75 100.0 0.0 0.0 100.0| 58, 079. 0Pk M afiLs
126. 6 3~  126.6 104 3.50 1. 50 0.75

& B\ LT 3.50 1. 50 0. 00 1.05 100.0 0.0 0.0 100.0| 58, 179. 0| Pk M At
126.6 104 ~  126.7 98 3.50 1. 50 1.05

&\ LT 3.50 1. 50 0. 00 1.10 100.0 0.0 0.0 100.0| 58, 279. 0| Pk M aids
126. 7 98 ~  126.8 94 3.50 1. 50 0.85

&I W\ L 3. 50 1.50 0. 00 1.15 97.0 0.0 3.0 100. 0 58, 379. O|HEAK Mg
126. 8 94 ~  126.9 89 3.50 1. 50 0. 65

&I W\ LT 3. 50 1.10 0. 00 1.50 92.5 0.0 7.5 100. 0 58, 479. O|HEAK P&
126.9 89 ~  127.0 89 3.50 2. 00 0. 50

&I W\ LT 3. 50 1.65 0. 00 0.70 96. 0 0.0 4.0 100. 0 58, 579. O|HEAK Mg
127.0 89 ~  127.1 85 3.50 2. 60 0. 70
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& W\ LT 3.50 1.45 0. 00 0.95 100. 0 0.0 0.0 100.0| 58, 679. 0| Pk M:Aids
127.1 85 ~  127.2 85 3. 50 2. 50 0.95

& W\ 2T 3.50 1.35 0. 00 0.90 100.0 0.0 0.0 100.0| 58, 779. O|HEK M & %:
127.2 85 ~  127.3 88 3.50 2.35 0. 90

&I W\ £ i 3.50 1. 40 0. 00 0.95 97.0 0.0 3.0 100.0| 58, 879. O|BE/KME&%:
127.3 88 ~  127.4 85 3.50 1. 80 0. 90

& W\ L 3.50 2.00 0. 00 0.00 97.0 0.0 3.0 100.0| 58, 979. O|HEKME&HL:
127. 4 85 ~ 127.5 100 3.50 1. 50 0.75

&l W\ 2 i 3.50 1.00 0. 00 0.75 97.0 0.0 4.0 101.0| 59, 080. O|BHE/AK M & %:
127.5 100 ~ 127.6 101 3.50 2. 00 0.75

fa I B\ 2 3.50 1.50 0. 00 0.75 97.5 0.0 2.5 100.0| 59, 180. O|HEAKME&%:
127.6 101 ~  127.7 68 3. 50 2. 50 1.25

fa I B\ 2 3.50 2.00 0. 00 1.45 95.5 0.0 4.5 100.0| 59, 280. O|BEAKME&%E
127.7 68 ~  127.8 61 3.50 3.10 0.75

K&\ LT 3.50 1.65 0. 00 1.05 86. 5 0.0 13.5 100.0| 59, 380. 0| Pk M aiLs
127.8 61 ~  127.9 78 3.50 2. 20 1. 00

&I W\ L 3.50 1.90 0. 00 2.25 100.0 0.0 0.0 100.0[ 59, 480. 0|7 A2 7 7 /v &kt
127.9 78 ~  128.0 79 3.50 2. 20 0.75

& L\ LT 3.50 1. 00 0. 00 1.50 100.0 0.0 0.0 100.0| 59, 580. 0| Pk M aids
128.0 79 ~  128.1 82 3.50 1. 00 1. 50

&\ LT 3. 50 1.00 0. 00 1.50 97.3 0.0 2.7 100.0| 59, 680. 0Pk M aids
128. 1 82 ~  128.2 100 3.50 2. 50 1. 50

&I W\ L 3.50 1. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0 59, 780. O|HE/AK ML
128.2 100 ~  128.3 99 3.50 1. 00 1. 50

&I W\ LT 3.50 0. 00 0. 00 1. 50 97.6 0.0 2.4 100. 0 59, 880. O|HEAK M
128.3 99 ~  128.4 92 3.50 1. 00 1. 50

&I W\ 2T 3.50 1. 90 0. 00 0.75 95.5 0.0 4.5 100. 0 59, 980. O|HEAK M
128. 4 92 ~  128.5 92 3.50 1. 90 0.75
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& W\ LT 3. 50 3. 00 0. 00 0.75 96. 3 0.0 3.7 100.0| 60, 080. 0| HEAK M:aids
128.5 92 ~  128.6 91 3. 50 2. 10 0.75
& W\ 2T 3.50 3.00 0. 00 0.75 100.0 0.0 0.0 100.0| 60, 180. O|HE/AKME&%:
128. 6 91 ~  128.7 83 3.50 1. 90 0.75
&I W\ £ i 3.50 1.90 0. 00 0.75 92.5 0.0 7.5 100.0| 60, 280. O|BEAKME&%:
128. 7 83 ~  128.8 88 3.50 3.00 0.75
& W\ L 3.50 1.90 0. 00 0.75 100.0 0.0 0.0 100.0| 60, 380. O|HEAKME&%:
128. 8 88 ~  128.9 91 3.50 2. 20 0.75
&l W\ 2 i 3.50 1. 40 0. 00 0. 50 100.0 0.0 0.0 100.0| 60, 480. O|HE/KME&H%:
128.9 91 ~  129.0 91 3.50 1. 50 0. 50
fa I B\ 2 3.50 2.00 0. 00 0. 50 98.5 0.0 1.5 100.0| 60, 580. O|HE/KME&%:
129. 0 91 ~  129.1 87 3. 50 2. 50 0. 50
fa I B\ 2 3.50 3.00 0. 00 0. 50 100.0 0.0 0.0 100.0| 60, 680. O|BEAKME&HL:
129. 1 87 ~  129.2 95 3.50 2. 50 0. 50
K&\ LT 3. 50 2. 00 0. 00 0. 50 83.0 0.0 0.0 83.0| 60, 763. 0|k MaiLs
129. 2 95 ~  129.3 77 3.50 2. 00 0. 50
&I R\ L 3.50 2.00 0. 00 0.75 0.0 0.0 77.0 77.0  60,840.07 2 7 7 /L MEf%E
129. 3 77 ~  129.4 52 3.50 2. 00 0.75
&I R\ LT 3.50 2.00 0. 00 0. 50 135.3 0.0 3.7 139.0[ 60, 979.0[7 &2 7 7 /v &k
129. 4 52 ~  129.5 89 3.50 2. 00 0. 50
&I R\ LT 3.50 2.00 0. 00 0. 50 90. 0 0.0 0.0 90.0[ 61,069.0[7 27 7 /v &k
129. 5 89 ~ 129.5 178 3.50 1. 50 0. 50
&I W\ L 3.50 2.50 0. 00 0.75 20. 0 0.0 0.0 20.0[ 61,089.0[7 27 7 /v &k
129.5 178 ~  129.5 198 3.50 1. 50 0.75
&I W\ L 3.50 5. 00 0.00 1.50 79. 2 0.0 20. 8 100.0[ 61, 189. 07 2 7 7 /v &tk
129.5 198 ~  129.8 2 3.50 3.95 1. 50
&I W\ LT 3.50 4. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 61, 289. O|HEAK Mg
129. 8 2~  129.9 11 3.50 2. 75 0.75
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& W\ LT 3. 50 2. 00 0. 00 0.75 43.0 0.0 0.0 43.0 61, 332. O|HEAK Mg
129. 9 11~  129.9 54 3.50 2. 00 0.75

&I W\ 2T 3.50 1.75 0. 00 0.75 1.4 0.0 115.6 117.0[ 61, 449. 0|7 2 7 7 /v &k
129.9 54 ~  130.0 34 3.50 2. 40 0.75

&I W\ £ i 3.50 2.00 0. 00 1.50 76.9 0.0 3.1 80.0 61,529.0[7 27 7 /v &k
130. 0 34 ~  130.1 18 7.00 3.20 0. 00

& W\ £ 3. 50 2.00 0. 00 1.50 —4.1 0.0 28. 1 24.0(  61,553.0[7 27 7 /v &k
130. 1 18 ~  130.1 42 7.00 3.20 0. 00

& W\ £ i 3.25 3.30 0. 00 0.75 59. 0 0.0 0.0 59.0(  61,612.0(7 27 7 /v &k
130. 1 42 ~  130.1 100 3.25 2. 00 0.75

& W\ L 3.25 2.00 0. 00 0.75 98.0 0.0 2.0 100.0[ 61, 712. 0|7 2 7 7 /v &k
130.1 100 ~  130.2 95 3.25 2. 00 0.75

e o W\ 2 il 3.25 2.50 0. 00 0.75 94.0 0.0 6.0 100.0[  61,812. 0|7 2 7 7 /v &k
130. 2 95 ~  130.4 1 3.25 2. 00 0.75

&I W\ L 3.50 2.10 0. 00 0.75 88.5 0.0 2.5 91.0[ 61,903.0[7 =27 7 /v &k
130. 4 1~  130.5 31 3.50 2. 00 0.75

&I W\ L 3.25 2.00 0. 00 0.75 97.0 0.0 0.0 97.0[  62,000.0[7 %27 7 /v &%k
130.5 31 ~  130.7 0 3.25 2. 50 0.75

&I W\ L 3.25 2.00 0. 00 0.75 104.0 0.0 0.0 104.0[ 62, 104. 0| 7 2 7 7 /v &k
130. 7 0~ 130.8 0 3.25 3.20 0.75

&I R\ LT 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0[  62,204. 0|7 2 7 7 /v &k
130. 8 0~ 130.8 100 3.25 1. 00 0.75

& W\ L 3.25 1.45 0.00 0.75 21.0 0.0 0.0 21.0[  62,225. 0|7 A7 7 v &k
130.8 100 ~  130.9 10 3.25 1. 00 0.75

&I W\ L 3.25 1.00 0. 00 0.75 97.0 0.0 3.0 100.0[ 62, 325. 0|7 2 7 7 /v &k
130.9 10~  131.0 11 3.25 1. 40 0.75

&I W\ L 3.25 2.00 0.00 0.75 100. 0 0.0 0.0 100. 0 62, 425. 0|7 2 7 7 /v &tk
131.0 11 ~  131.1 7 3.25 0. 80 0.75
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& W\ LT 3.25 1.30 0. 00 0.75 100.0 0.0 0.0 100.0[  62,525. 0|7 2 7 7 /v &k
131.1 7~ 131.1 108 3.25 0. 70 0.75
& W\ 2T 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 62, 625. 0|7 2 7 7 /v &k
131.1 108 ~  131.2 99 3.25 1. 00 0.75
&I W\ £ i 3.25 1.00 0. 00 0.75 100.0 0.0 0.0 100.0| 62, 725. O|BEKME&HLE
131.2 99 ~  131.4 3 3.25 1. 00 0.75
& W\ L 3.25 1.10 0. 00 0.75 97.5 0.0 2.5 100.0| 62, 825. O|HEKMEAHL:
131. 4 3~ 131.4 104 3.25 1. 00 0.75
&l W\ 2 i 3.25 0.95 0. 00 0.75 100.0 0.0 0.0 100.0| 62, 925. O|BEKME&HL:
131.4 104 ~  131.4 204 3.25 1.45 0.75
fa I B\ 2 3.25 0. 80 0. 00 0.75 100.0 0.0 0.0 100.0| 63, 025. O|BEKME&HLE
131.4 204 ~  131.7 5 3.25 2. 10 0.75
fa I B\ 2 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0| 63, 125. O|BEAKMEAHLE
131.7 5~ 131.7 106 3.25 1. 90 0.75
K&\ LT 3.25 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 63, 225. 0| Pk Maids
131.7 106 ~ 131.8 101 3.25 2. 00 0.75
KR\ LT 3.25 2.25 0. 00 0. 50 95.5 0.0 4.5 100.0| 63, 325. 0| Pk M aids
131.8 101 ~  132.0 1 3.25 2. 75 0. 60
& L\ LT 3.25 2.55 0. 00 0. 50 100.0 0.0 0.0 100.0| 63, 425. 0| Pk Maids
132.0 1~ 132.1 1 3.25 2. 80 0.55
&\ LT 3.25 2.35 0. 00 0. 50 95.5 0.0 4.5 100.0| 63, 525. 0|k M aids
132. 1 1~  132.1 102 3.25 2.85 0.55
&I W\ L 3.25 2.55 0. 00 0. 50 100. 0 0.0 0.0 100. 0 63, 625. 0|HEA A
132.1 102 ~  132.3 2 3.25 2. 80 0. 56
&I W\ LT 3.25 1.77 0. 00 0. 50 98.0 0.0 2.0 100. 0 63, 725. O|HEAK Mg
132.3 2~  132.4 7 3.25 2. 62 0. 56
&I W\ 2T 3.25 0.80 0. 00 0. 50 100. 0 0.0 0.0 100. 0 63, 825. O|HEAK A
132. 4 7~  132.4 107 3.25 2. 45 0. 50
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& W\ LT 3.25 2.75 0. 00 0. 50 100.0 0.0 0.0 100. 0 63, 925. O|HEAK AL
132.4 107 ~  132.5 100 3.25 2.85 0. 50

& W\ 2T 3.25 2.75 0. 00 0. 50 17.0 0.0 0.0 17.0| 63,942, 0|HE/K A2k
132.5 100 ~  132.6 13 3.25 2.85 0.55

& W\ L 3.25 2.75 0. 00 0. 50 0.0 0.0 42.0 42.0(  63,984. 07 27 7 /v &k
132. 6 13~  132.6 55 3.25 2.85 0.55

& W\ L 3.25 2.20 0. 00 0.52 41.0 0.0 0.0 41.0[ 64, 025. 0|7 27 7 /v &k
132. 6 55 ~  132.7 4 3.25 2.15 0. 50

& W\ £ i 3.25 3.00 0. 00 0. 50 91.0 0.0 0.0 91.0[ 64, 116. 07 27 7 /v &k
132. 7 4~ 132.8 0 3.25 1.95 0. 50

& W\ L 3.25 3.00 0. 00 0. 50 100.0 0.0 0.0 100. 0 64, 216. 0|7 2 7 7 /v &k
132.8 0~ 132.8 101 3.25 1. 00 0. 50

e o W\ 2 il 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 64, 316. 0|7 2 7 7 /v &k
132.8 101 ~  132.9 82 3.25 1. 00 0. 50

&I W\ L 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 64, 416. 0|7 2 7 7 /v &4k
132.9 82 ~  133.0 83 3.25 1. 00 0. 50

&I IR\ L 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  64,516. 0|7 &2 7 7 /v &k
133.0 83 ~ 133.1 86 3.25 2. 00 0. 50

&I W\ L 3.25 0.00 0. 00 0.65 100.0 0.0 0.0 100.0[ 64, 616. 0|7 A2 7 7 /v &k
133.1 86 ~  133.2 82 3.25 2. 50 0. 65

&I R\ LT 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 64, 716. 0|7 2 7 7 /v &k
133.2 82 ~  133.3 96 3.25 2. 50 0. 50

&I W\ L 3.25 0.00 0. 00 0. 50 98.5 0.0 1.5 100.0[ 64, 816. 0|7 2 7 7 /v &4k
133.3 96 ~  133.5 1 3.25 2. 50 0. 50

&I W\ LT 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 64, 916. 0|7 2 7 7 /v &k
133.5 1~ 133.5 103 3.25 2. 50 0. 50

&I W\ LT 3.25 0.00 0.00 0. 50 100.0 0.0 0.0 100.0[ 65, 016. 0|7 A2 7 7 /v &tk
133.5 103 ~  133.6 87 3.25 2. 50 0. 50
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& W\ LT 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 65, 116. 0|7 2 7 7 /v &k
133.6 87 ~  133.7 78 3.25 2. 50 0. 50

& W\ 2T 3.25 0.00 0. 00 0.50 100.0 0.0 0.0 100.0[ 65, 216. 0|7 2 7 7 /v &k
133.7 78 ~  133.8 89 3.25 2. 50 0. 50

&I W\ £ i 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 65, 316. 0|7 2 7 7 /v &k
133.8 89 ~  133.9 89 3.25 3.00 0. 50

& W\ L 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 65, 416. 0| 7 2 7 7 /v &k
133.9 89 ~ 133.9 180 3.25 2. 00 0. 50

&l W\ 2 i 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  65,516. 0|7 2 7 7 /v &k
133.9 180 ~  134.2 6 3.25 1. 50 0. 50

fa I B\ 2 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 65, 616. 0|7 2 7 7 /L &k
134. 2 6~  134.3 2 3.25 2. 00 0. 50

e o W\ 2 il 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 65, 716. 0|7 2 7 7 /v &k
134.3 2~  134.3 103 3.25 2. 00 0. 50

&I W\ L 3.25 0.00 0. 00 0. 50 -2.5 0.0 2.5 0.0| 65,716.0|7 A7 7 /b h&fkE
134.3 103 ~  134.4 89 3.25 2. 00 0. 50

&I W\ L 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  65,816. 0|7 A2 7 7 /v &4k
134. 4 89 ~  134.5 89 3.25 2. 00 0. 50

&I W\ L 3.25 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 65, 916. 0|7 A2 7 7 /v &k
134.5 89 ~ 134.6 89 3.25 2. 50 0. 50

&I R\ LT 3.25 0.00 0. 00 0. 50 96. 2 0.0 3.8 100.0[ 66, 016. 0| 7 &2 7 7 /v b &tk
134. 6 89 ~  134.7 97 3.25 2. 50 0. 50

&I W\ L 3.25 1.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 66, 116. 0| 7 A2 7 7 /v &4k
134. 7 97 ~  134.8 89 3.25 3.00 0. 50

&I W\ LT 3.25 1.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 66, 216. 0|7 &2 7 7 /v &4k
134.8 89 ~  134.9 91 3.25 2. 50 0. 50

&I W\ LT 3.25 0.00 0.00 0. 50 100.0 0.0 0.0 100.0[ 66, 316. 0| 7 &2 7 7 /v &k
134.9 91 ~  135.0 81 3.25 2. 00 0. 50
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& W\ LT 3.25 0.00 0. 00 0. 50 100.0 0.0 0. 100. 66, 416. 0| 7 2 7 7 )L &tk
135.0 81 135. 86 3.25 2. 00 0. 50

& W\ 2T 3.25 0.00 0. 00 0.50 100.0 0.0 0. 100. 66, 516. 0| 7 2 7 7 /L &tk
135. 1 86 135. 87 3.25 2. 00 0. 50

&I W\ £ i 3.25 1.00 0. 00 0. 50 100.0 0.0 0. 100. 66, 616. 0| 7 2 7 7 /L &k
135. 2 87 135. 81 3.25 2. 00 0. 50

& W\ L 3.25 1.00 0. 00 0. 50 100.0 0.0 0. 100. 66, 716. 0| 7 2 7 7 /L &tk
135.3 81 135. 77 3.25 2. 00 0. 50

&l W\ 2 i 3.25 1.00 0. 00 0. 50 100.0 0.0 0. 100. 66, 816. 0| 7 2 7 7 /L &tk
135. 4 77 135. 178 3.25 1. 50 0. 50

fa I B\ 2 3.25 1.00 0. 00 0. 50 96. 9 0.0 3. 100. 66, 916. 0| 7 2 7 7 /L &k
135.4 178 135. 69 3.25 1. 50 0. 50

e o W\ 2 il 3.25 1.00 0. 00 0. 50 96. 6 0.0 3. 100. 67, 016. 0| 7 2 7 7 )L &tk
135. 6 69 135. 95 3.25 2. 00 0. 50

&I W\ L 3.25 1.00 0. 00 0. 50 100.0 0.0 0. 100. 67, 116. 0| 7 A 7 7 /v &tk
135. 7 95 135. 82 3.25 1. 50 0. 50

&I W\ L 3.25 1.00 0. 00 0. 50 86. 0 0.0 0. 86. 67, 202. 0| 7 A 7 7 /v &tk
135. 8 82 135. 63 3.25 2. 00 0. 50

&I R\ L 3.25 2.75 0. 00 0. 50 7.6 0.0 32. 40. 67, 242. 0| 7 A 7 7 /v &tk
135.9 63 135. 98 3.25 2.85 0.55

&I R\ LT 3.25 1.50 0. 00 0. 50 82.0 0.0 0. 82. 67,324. 0| 7 A 7 7 v &tk
135.9 98 136. 76 3.25 0. 00 1.75

&I W\ L 3.25 2.50 0. 00 0. 50 100.0 0.0 0. 100. 67, 424. 0| 7 A 7 7 /v &tk
136. 0 76 136. 74 3.25 0. 00 1. 50

&I W\ LT 3.25 2.00 0. 00 0. 50 100.0 0.0 0. 100. 67,524. 0| 7 A 7 7 /v &tk
136. 1 74 136. 101 3.25 0. 00 0.75

&I W\ LT 3.25 2.50 0.00 0. 50 100.0 0.0 0. 100. 67, 624. 0| 7 A 7 7 /v &tk
136.2 101 136. 80 3.25 0. 00 0.75
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& W\ LT 3.25 2.00 0. 00 0. 50 100.0 0.0 0.0 100.0[ 67, 724. 0|7 2 7 7 /v &k
136. 3 80 ~  136.4 53 3.25 0. 00 0.75

& W\ 2T 3.25 2.00 0. 00 0.50 100.0 0.0 0.0 100.0[  67,824. 07 2 7 7 /v &k
136. 4 53 ~  136.5 80 3.25 0. 00 0.75

&I W\ £ i 3.25 2.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  67,924. 0|7 2 7 7 /v &tk
136. 5 80 ~  136.6 80 3.25 0. 00 1. 00

& W\ L 3.25 2.00 0. 00 0. 50 97.4 0.0 2.6 100.0[ 68, 024. 0|7 2 7 7 /v &k
136. 6 80 ~  136.7 78 3.25 0. 00 0.75

&l W\ 2 i 3.25 1.50 0. 00 0. 50 100.0 0.0 0.0 100.0[ 68, 124. 0|7 2 7 7 /v &k
136. 7 78 ~  136.8 80 3.25 0. 00 0.75

fa I B\ 2 3.25 1.80 0. 00 0. 50 100.0 0.0 0.0 100.0[  68,224. 0|7 2 7 7 /v &k
136. 8 80 ~  136.9 79 3.25 0. 00 0.75

e o W\ 2 il 3.25 2.00 0. 00 0. 50 50. 0 0.0 0.0 50.0[  68,274. 0|7 2 7 7 /v &k
136.9 79 ~  137.0 22 3.25 0. 00 1. 00

& W\ L 3.25 2.75 0. 00 0. 50 0.7 0.0 32.3 33.0[ 68,307.0[7 27 7 /v h&fEE
137.0 22 ~  137.0 55 3.25 2.85 0.55

&I W\ L 3.25 2.00 0. 00 0. 50 118.0 0.0 0.0 118.0 68, 425. 0|7 27 7 /v &k
137.0 55 ~  137.1 74 3.25 0. 00 1. 00

&I W\ L 3.25 3.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  68,525. 0|7 A7 7 /v &k
137.1 74 ~  137.2 76 3.25 0. 00 1. 00

&I R\ LT 3.25 2.00 0. 00 1.20 96. 6 0.0 3.4 100.0[ 68, 625. 0|7 2 7 7 /v &k
137.2 76 ~  137.3 79 3.25 1. 70 0. 50

&I W\ L 3.25 0.00 0. 00 1.50 100.0 0.0 0.0 100.0[ 68, 725. 0|7 2 7 7 /v &k
137.3 79 ~  137.4 97 3.25 1. 50 0. 50

&I W\ LT 3.25 0.00 0. 00 1.50 100.0 0.0 0.0 100.0[  68,825. 0|7 &2 7 7 /v &k
137. 4 97 ~  137.5 78 3.25 1. 50 0. 50

&I W\ LT 3.25 0.00 0.00 1.25 100.0 0.0 0.0 100.0[ 68, 925. 0|7 &2 7 7 /v &tk
137.5 78 ~  137.6 77 3.25 2. 00 0. 50
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& W\ LT 3.25 0.00 0. 00 1.25 100.0 0.0 0.0 100.0[ 69, 025. 0|7 2 7 7 /v &k
137.6 77 ~  137.7 58 3.25 2. 50 0. 50

& W\ 2T 3.25 0.00 0. 00 2. 50 100.0 0.0 0.0 100.0[ 69, 125. 0|7 2 7 7 /v &k
137.7 58 ~  137.8 68 3.25 2. 50 0. 50

&I W\ £ i 3.25 0.00 0. 00 2.50 100.0 0.0 0.0 100.0[ 69, 225. 0|7 2 7 7 /v &k
137.8 68 ~  137.9 78 3.25 2. 50 0. 50

& W\ L 3.25 0.00 0. 00 2.00 104.0 0.0 0.0 104.0[ 69, 329. 0|7 2 7 7 /v &k
137.9 78 ~  138.0 75 3.25 2. 00 0. 50

&l W\ 2 i 3.25 2.75 0. 00 0. 50 -3.6 0.0 37.6 34.0[  69,363.0[7 27 7 v &k
138.0 75 ~  138.1 4 3.25 2.85 0.55

fa I B\ 2 3.25 0. 50 0. 00 0. 50 63.0 0.0 0.0 63.0[  69,426. 07 %7 7 /v &Lk
138. 1 4~ 138.1 67 3.25 2. 00 0. 50

e o W\ 2 il 3.25 1.50 0. 00 1.50 96. 0 0.0 4.0 100.0[  69,526. 0|7 % 7 7 /v &k
138.1 67 ~  138.2 80 3.25 1. 50 0. 50

&I W\ L 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 69, 626. 0|7 &2 7 7 /v &k
138.2 80 ~  138.3 92 3.25 0. 00 1. 50

&I IR\ L 3.25 2.50 0. 00 0.75 100.0 0.0 0.0 100.0[ 69, 726. 0|7 A2 7 7 /v &tk
138.3 92 ~  138.4 90 3.25 0. 00 1. 00

&I W\ L 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 69, 826. 07 &2 7 7 /v &4k
138. 4 90 ~  138.5 77 3.25 0. 00 2. 00

&I R\ LT 3.25 0.00 0. 00 1.50 100.0 0.0 0.0 100.0[ 69, 926. 0|7 2 7 7 /v &k
138.5 77 ~  138.6 81 3.25 0. 00 1. 70

&I W\ L 3.25 0.00 0. 00 2.50 100.0 0.0 0.0 100.0[ 70, 026. 0|7 &2 7 7 /v &tk
138. 6 81 ~  138.7 69 3.25 0. 00 1. 70

&I W\ LT 3.25 0.00 0. 00 1.00 100.0 0.0 0.0 100.0[ 70, 126. 07 A2 7 7 /v &k
138.7 69 ~  138.8 83 3.25 0. 00 1. 70

&I W\ LT 3.25 0.00 0.00 1.00 100.0 0.0 0.0 100.0[ 70, 226. 07 &2 7 7 /v &k
138.8 83 ~ 138.9 87 3.25 0. 00 1. 70
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& W\ LT 3.25 0.00 0. 00 1.00 117.5 0.0 24.5 142.0[ 70, 368. 0|7 2 7 7 /v &k
138.9 87 ~  139.1 19 3.25 0. 00 1. 00

& W\ 2T 3.25 2.00 0. 00 0.75 18.0 0.0 0.0 18.0|  70,386.0|7 A7 7 /L k&
139. 1 19 ~  139.1 37 3.25 2. 00 1. 50

& W\ L 3.25 2.00 0. 00 1.50 142.0 0.0 0.0 142.0(  70,528. 0|7 2 7 7 /v &k
139. 1 37 ~  139.2 75 3.25 0. 00 2. 50

& W\ L 3.25 0.00 0. 00 1.75 100.0 0.0 0.0 100.0[ 70, 628. 0|7 &2 7 7 /v &k
139. 2 75 ~  139.3 78 3.25 0. 00 1. 00

& W\ Lz 3.25 0.00 0. 00 2.00 100.0 0.0 0.0 100.0[ 70, 728. 07 2 7 7 /v &k
139. 3 78 ~  139.4 81 3.25 0. 00 3.20

& W\ L 3.25 0.00 0. 00 1.25 100.0 0.0 0.0 100.0[  70,828. 07 % 7 7 /v &k
139. 4 81 ~  139.5 66 3.25 0. 00 1.25

e o W\ 2 il 3.25 2.50 0. 00 0.75 100.0 0.0 0.0 100.0[ 70, 928. 07 =2 7 7 /v &k
139.5 66 ~  139.6 76 3.25 0. 00 0.75

&I W\ L 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 71, 028.0(7 2 7 7 /v &k
139. 6 76 ~  139.7 67 3.00 0. 00 0.75

&I IR\ L 3.25 2.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  71,128.0(7 2 7 7 /v &k
139. 7 67 ~  139.8 55 3.25 0. 00 0.75

&I W\ L 3.25 1.50 0. 00 0. 50 100.0 0.0 0.0 100.0[  71,228.0(7 2 7 7 v &k
139. 8 55 ~  139.9 70 3.25 0. 00 0.75

&I R\ LT 3.25 2.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  71,328.0[7 2 7 7 /v &k
139.9 70 ~  140.0 76 3.25 0. 00 1. 00

&I W\ L 3.25 2.50 0. 00 0. 50 97.1 0.0 2.9 100.0[  71,428. 0|7 2 7 7 /v &k
140. 0 76 ~  140.1 61 3.25 0. 00 0.75

&I W\ LT 3.25 2.50 0. 00 0. 50 100.0 0.0 0.0 100.0[  71,528. 0|7 2 7 7 /v &k
140. 1 61 ~  140.2 54 3.25 0. 00 1. 00

&I W\ LT 3.25 2.00 0.00 0.75 100.0 0.0 0.0 100.0[  71,628. 0|7 2 7 7 v &k
140. 2 54 ~  140.3 64 3.25 0. 00 1. 00
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& W\ LT 3.25 0.00 0. 00 1.50 -17.0 0.0 37.0 20.0[ 71,648. 0|7 2 7 7 v Ak
140. 3 64 ~  140.3 84 3.25 0. 00 1. 50

&I W\ 2T 3.25 0.00 0. 00 0.75 38.0 0.0 0.0 38.0[ 71,686.0[7 27 7 v &k
140. 3 84 ~  140.3 121 3.25 0. 00 1. 50

&I W\ L 3.25 0.00 0. 00 0.75 145.0 0.0 0.0 145.0(  71,831. 0|7 2 7 7 /v &k
140.3 121 ~  140.5 68 3.25 0. 00 1.25

& W\ L 3.25 0.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 71, 931. 0|7 2 7 7 /v &k
140. 5 68 ~  140.6 66 3.25 0. 00 0.75

&l W\ 2 i 3.25 0.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 72, 031. 0|7 2 7 7 /v &k
140. 6 66 ~  140.7 69 3.25 0. 00 0.75

fa I B\ 2 3.25 0.00 0. 00 0.75 100.0 0.0 0.0 100.0[ 72, 131. 0|7 2 7 7 /v &tk
140. 7 69 ~  140.8 68 3.25 0. 00 0. 50

e o W\ 2 il 3.25 0.00 0. 00 1.50 100.0 0.0 0.0 100.0[  72,231. 0|7 2 7 7 v &k
140. 8 68 ~  140.9 99 3.25 0. 00 2. 00

&I W\ L 3.25 0.00 0. 00 1.00 100.0 0.0 0.0 100.0[  72,331. 0|7 27 7 v b &k
140. 9 99 ~  140.9 200 3.25 0. 00 0.75

&I W\ L 3.25 0.00 0. 00 1.00 100.0 0.0 0.0 100.0[  72,431. 0|7 2 7 7 v b &k
140.9 200 ~  141.1 51 3.25 0. 00 1. 00

&I W\ L 3.25 0.00 0.00 1.25 100.0 0.0 0.0 100.0[  72,531. 0|7 2 7 7 /v b &k
141. 1 51 ~  141.1 152 3.25 0. 00 1.25

&I R\ L 3.25 0.00 0. 00 0.75 100.0 0.0 0.0 100.0[  72,631. 0|7 27 7 v &k
141.1 152 ~  141.3 67 3.25 0. 00 1. 00

&I W\ L 3.25 0.00 0. 00 0.75 100.0 0.0 0.0 100.0[  72,731. 0|7 2 7 7 v &k
141.3 67 ~  141.4 70 3.25 2. 00 1.25

&I W\ LT 3.25 2.00 0. 00 0.75 100.0 0.0 0.0 100.0[  72,831.0(7 27 7 /v &k
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